## BID TABULATION FOR:

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LIA JOB NO.

CONSTRUCTION OF THE PAVING, STRIPING AND APPURTENANCES TO SERVE THE FM 359 IMPROVEMENTS ADJACENT TO DEL WEBB FULSHEAR AND POLO RANCH AND THE TRAFFIC SIGNAL INSTALLATION AT FM 359 AND LIFESTYLE BOULEVARD FORT BEND COUNTY MUNICIPAL UTILITY DISTRICT NO. 245, FORT BEND COUNTY MUNICIPAL UTILITY DISTRICT NO. 174 CITY OF FULSHEAR, FORT BEND COUNTY, TEXAS

FEBRUARY 12, 2025 LJA ENGINEERING, INC. A.GUIJOSA FEBRUARY 13, 2025 1680-8014 (9.2)

BIDDER NAME	BASE BID
1) LARRY YOUNG PAVING	\$2,133,562.21
2) DURWOOD GREENE CONSTRUCTION CO.	\$2,241,220.65
3) AAA ASPHALT PAVING, INC.	\$2,258,925.90
4) FORDE CONSTRUCTION COMPANY	\$2,697,724.29
5) MB WESTERN CONSTRUCTION	\$3,212,002.46

**CALANDER DAYS 90/100** 

I, Everett Deao, PE, hereby certify these bid tabulations to be true and correct.



2/13/2025

CONSTRUCTION OF THE PAVING, STRIPING AND APPURTENANCES TO SERVE THE FM 359 IMPROVEMENTS ADJACENT TO DEL WEBB FULSHEAR AND POLO RANCH AND THE TRAFFI SIGNAL INSTALLATION AT FM 359 AND LIFESTYLE BOULEVARD FORT BEND COUNTY MUNICIPAL UTILITY DISTRICT NO. 174

CITY OF FULSHEAR, FORT BEND COUNTY, TEXAS

FEBRUARY 12, 2025 LJA ENGINEERING, INC. A.GUIJOSA FEBRUARY 13, 2025 1680-8014 (9.2)

			1) LARRY YO	UNG PAVING	2) DURWOOD GREET	NE CONSTRUCTION CO.	3) AAA ASPHAL	Γ PAVING, INC.	4) FORDE CONSTRUC	CTION COMPANY
NO. ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
MILL AND OVERLAY AND TWO WAY LEFT TURN LANE ITEMS  1. TXDOT ITEM NO. 0100 - PREPARE RIGHT OF WAY, (STA 25+70), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	2570		\$159,340.00	\$50.00	\$128,500.00	\$29.50	\$75,815.00	\$49.00	\$125,930.00
<ol> <li>TXDOT ITEM NO. 0354 - PLANE EXISTING ASPHALT PAVEMENT, 2" DEPT IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, TO BE USED ONLY AT THE WRITTEN DIRECTION OF THE ENGINEER, COMPLETE IN PLACE</li> </ol>	H, SY	11387	\$1.75	\$19,927.25	\$2.50	\$28,467.50	\$2.75	\$31,314.25	\$3.50	\$39,854.50
<ol> <li>TXDOT ITEM NO. 0292- TACK COAT BINDER TO BE INSTALLED IN BETWE MILLED ASPHALT AND PROPOSED ASPHALT OVERLAY, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE</li> </ol>	EN SY	11387	\$0.70	\$7,970.90	\$0.50	\$5,693.50	\$1.50	\$17,080.50	\$0.30	\$3,416.10
<ol> <li>TXDOT ITEM NO. 0341- 2" HOT MIX ASPHALT TYPE D (PG 70-22), SAC-A, ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE</li> </ol>	IN SY	11387	\$18.00	\$204,966.00	\$20.00	\$227,740.00	\$18.00	\$204,966.00	\$17.00	\$193,579.00
<ol> <li>TXDOT ITEM NO. 0678 - PREPARE SURFACE FOR PAVEMENT MARKING (6"), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLET IN PLACE</li> </ol>	LF E	5624	\$0.03	\$168.72	\$0.10	\$562.40	\$0.05	\$281.20	\$0.06	\$337.44
6. TXDOT ITEM NO. 0678 - PREPARE SURFACE FOR PAVEMENT MARKING (DASHED 6"), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	4463	\$0.03	\$133.89	\$0.10	\$446.30	\$0.05	\$223.15	\$0.06	\$267.78
<ol> <li>TXDOT ITEM NO. 0666 - 6" SOLID YELLOW REFLECTIVE PAVEMENT MARKINGS, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE</li> </ol>	LF	4760	\$1,95	\$9,282.00	\$1.50	\$7,140.00	\$1.75	\$8,330.00	\$1.20	\$5,712.00
<ol> <li>TXDOT ITEM NO. 0666 - 6" DASHED YELLOW REFLECTIVE PAVEMENT MARKINGS, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE</li> </ol>	LF	4463	\$1.95	\$8,702.85	\$1.50	\$6,694.50	\$1.75	\$7,810.25	\$1.30	\$5,801.90
<ol> <li>STORM WATER POLLUTION PREVENTION PLAN COMPLIANCE, INSPECTION, MAINTENANCE OF FENCE, NOI, NOT, AND ALL OTHER ITEN NOT SPECIFICALLY LISTED ABOVE, COMPLETE IN PLACE</li> </ol>	LS 1S	1	\$2,200.00	\$2,200.00	\$3,000.00	\$3,000.00	\$10,000.00	\$10,000.00	\$1,000.00	\$1,000.00
10. STABILIZED CONSTRUCTION EXIT, INSTALLATION, MAINTENANCE, AND REMOVAL, TO INCLUDE TEMPORARY CULVERT AS NEEDED FOR CROSSIN EXISTING FM 359 ROADSIDE DITCH (TO BE USED ONLY AT THE WRITTEN DIRECTION OF THE ENGINEER), COMPLETE IN PLACE		4	\$1,900.00	\$7,600.00	\$1,500.00	\$6,000.00	\$150.00	\$600.00	\$4,200.00	\$16,800.00
11. TEMPORARY TRAFFIC CONTROL FOR MILL AND OVERLAY AND TWO WA LEFT TURN LANE, INCLUDES INSTALLATION, IMPLEMENTATION AND REMOVAL UPON COMPLETION, ELAGGERS AND TEMPORAR TRAFFIC CONTROL DEVICES, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	Y LS	1	\$2,100.00	\$2,100.00	\$10,000.00	\$10,000.00	\$8,000.00	\$8,000.00	\$28,000.00	\$28,000.00
12. TEMPORARY TRAFFIC CONTROL PLAN FOR MILL AND OVERLAY AND TW WAY LEFT TURN LANE TO BE SIGNED AND SEALED BY A PROFESSIONAL ENGINEER AND APPROVED BY THE ENGINEER OF RECORD	O LS	1	\$2,800.00	\$2,800.00	\$3,500.00	\$3,500.00	\$5,000.00	\$5,000.00	\$9,000.00	\$9,000.00
13. TXDOT ITEM NO. 0105 - 2' SAW CUT AND REMOVAL OF EXISTING ASPHALT AND BASE, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	679	\$4.50	\$3,055.50	\$20.00	\$13,580.00	\$3.50	\$2,376.50	\$17.00	\$11,543.00
14. TXDOT ITEM NO. 0292 - 16" ASPHALT BASE, COMPLETE IN PLACE	SY	428	\$125.00	\$53,500.00	\$118.00	\$50,504.00	\$110.00	\$47,080.00	\$118.00	\$50,504.00
15. TXDOT ITEM NO. 0341 - 2" HOT MIX ASPHALT TYPE D (PG 70-22), SAC-A IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	, SY	360	\$18.00	\$6,480.00	\$20.00	\$7,200.00	\$18.00	\$6,480.00	\$38.00	\$13,680.00

CONSTRUCTION OF THE PAVING, STRIPING AND APPURTENANCES TO SERVE THE FM 359 IMPROVEMENTS ADJACENT TO DEL WEBB FULSHEAR AND POLO RANCH AND THE TRAFFI SIGNAL INSTALLATION AT FM 359 AND LIFESTYLE BOULEVARC
FORT BEND COUNTY MUNICIPAL UTILITY DISTRICT NO. 245, FORT BEND COUNTY MUNICIPAL UTILITY DISTRICT NO. 17CITY OF FULSHEAR, FORT BEND COUNTY, TEXAS
FEBRUARY 12, 2025

LJA ENGINEERING, INC. A.GUIJOSA FEBRUARY 13, 2025 1680-8014 (9.2)

			1) LARRY YO	UNG PAVING	2) DURWOOD GREEN	E CONSTRUCTION CO.	3) AAA ASPHAI	T PAVING, INC.	4) FORDE CONSTRU	CTION COMPANY
NO. ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
16. TXDOT ITEM NO. 0666 - 6" SOLID WHITE REFLECTIVE PAVEMENT MARKINGS, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	864	\$1.95	\$1,684.80	\$1.50	\$1,296.00	\$1.75	\$1,512.00	\$1.30	\$1,123.20
<ol> <li>TXDOT ITEM NO. 0292 - TACK COAT BINDER FOR ASPHALT EXTENSION, IN ACCORDANCE WITH PLANS AND SPECIFICATIONS, COMPLETE IN PLACE</li> </ol>	SY	360	\$0.70	\$252.00	\$0.50	\$180.00	\$1.50	\$540.00	\$0.30	\$108.00
18. TXDOT ITEM NO. 0512 - INSTALLATION, MAINTENANCE AND REMOVAL OF LOW PROFILE CONCRETE TRAFFIC BARRIERS, TO BE USED ONLY AT TH DIRECTION OF THE ENGINEER, COMPLETE IN PLACE	LF E	679	\$33.50	\$22,746.50	\$20.00	\$13,580.00	\$55.00	\$37,345.00	\$120.00	\$81,480.00
19. DEMOBILIZATION AFTER COMPLETION OF PHASE 1 AND REMOBILIZATION FOR COMPLETION OF PHASE 2, COMPLETE IN PLACE	LS	1	\$5,000.00	\$5,000.00	\$10,000.00	\$10,000.00	\$45,000.00	\$45,000.00	\$5,000.00	\$5,000.00
<ol> <li>TXDOT ITEM NO. 503 - SOUTHERN PORTABLE MESSAGE SIGN, TO BE USE AT THE DIRECTION OF THE ENGINEER, COMPLETE IN PLACE</li> </ol>	D DAY	45	\$80.00	\$3,600.00	\$300.00	\$13,500.00	\$125.00	\$5,625.00	\$200.00	\$9,000.00
21. TXDOT ITEM NO. 503 - NORTHERN PORTABLE MESSAGE SIGN, TO BE USE AT THE DIRECTION OF THE ENGINEER, COMPLETE IN PLACE	D DAY	45	\$80.00	\$3,600.00	\$300.00	\$13,500.00	\$125.00	\$5,625.00	\$200.00	\$9,000.00
22. TXDOT ITEM NO. 533 - MILLED RUMBLE STRIP, TO BE USED AT THE DIRECTION OF THE ENGINEER, COMPLETE IN PLACE	LF	770	\$0.60	\$462.00	\$1.50	\$1,155.00	\$1.75	\$1,347.50	\$1.10	\$847.00
SUBTOTAL MILL AND OVERLAY AND TWO WAY LEFT TURN LANE ITEMS			-	\$525,572.41		\$552,239.20	_	\$522,351.35	_	\$611,983.92
FULSHEAR INVESTMENTS SOUTHERN TURN LANE  1. TXDOT ITEM NO. 0105 - 2' SAW CUT AND REMOVAL OF EXISTING ASPHALT AND BASE, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	1104	\$4.50	\$4,968.00	\$20.00	\$22,080.00	\$3.50	\$3,864.00	\$14.00	\$15,456.00
2. TXDOT ITEM NO. 0292 -16" ASPHALT BASE, COMPLETE IN PLACE	SY	2120	\$125.00	\$265,000.00	\$118.00	\$250,160.00	\$110.00	\$233,200.00	\$114.00	\$241,680.00
3. TXDOT ITEM NO. 0341 - 2" HOT MIX ASPHALT TYPE D (PG 70-22), SAC-A, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	SY	1988	\$18.00	\$35,784.00	\$20.00	\$39,760.00	\$18.00	\$35,784.00	\$22.00	\$43,736.00
4. TXDOT ITEM NO. 0512 - INSTALLATION, MAINTENCE AND REMOVAL OF LOW PROFILE CONCRETE TRAFFIC BARRIERS, TO BE USED ONLY AT THE WRITTEN DIRECTION OF THE ENGINEER, COMPLETE IN PLACE	LF	1104	\$33.50	\$36,984.00	\$20.00	\$22,080.00	\$55.00	\$60,720.00	\$130.00	\$143,520.00
5. TXDOT ITEM NO. 0152 - ROADSIDE DITCH REGRADING, CONTRACTOR TO RE-ESTABLISH EXISTING ROADSIDE DITCH TO PRE-PROJECT CONDITIONS AND FLOW DIRECTION, TO INCLUDE DEMUCKING AND FILLING AS NECESSARY, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	883	\$15.00	\$13,245.00	\$25.00	\$22,075.00	\$18.00	\$15,894.00	\$8.00	\$7,064.00
6. TEMPORARY TRAFFIC CONTROL FOR FULSHEAR INVESTMENTS SOUTHER TURN LANES, INCLUDES INSTALLATION, IMPLEMENTATION AND REMOVAL UPON COMPLETION, FLAGGERS AND TEMPORARY TRAFFIC CONTROL DEVICES, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	V LS	1	\$2,100.00	\$2,100.00	\$10,000.00	\$10,000.00	\$8,000.00	\$8,000.00	\$8,000.00	\$8,000.00
<ol> <li>TXDOT ITEM NO. 0292 - TACK COAT BINDER FOR TURN LANE, IN ACCORDANCE WITH PLANS AND SPECIFICATIONS, COMPLETE IN PLACE</li> </ol>	SY	1988	\$0.70	\$1,391.60	\$0.50	\$994.00	\$1.50	\$2,982.00	\$0.30	\$596.40
8. TXDOT ITEM NO. 0678 - PREPARE SURFACE FOR PAVEMENT MARKING (6"), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	1734	\$0.07	\$121.38	\$0.10	\$173.40	\$0.05	\$86.70	\$0.06	\$104.04
<ol> <li>TXDOT ITEM NO. 0678 - PREPARE SURFACE FOR PAVEMENT MARKING (ARROW), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE</li> </ol>	EA	2	\$7.25	\$14.50	\$20.00	\$40.00	\$0.05	\$0.10	\$16.00	\$32.00
<ol> <li>TXDOT ITEM NO. 0678 - PREPARE SURFACE FOR PAVEMENT MARKING (WORD), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE</li> </ol>	EA	2	\$7.25	\$14.50	\$20.00	\$40.00	\$6.50	\$13.00	\$16.00	\$32.00

CONSTRUCTION OF THE PAVING, STRIPING AND APPURTENANCES TO SERVE THE FM 359 IMPROVEMENTS ADJACENT TO DEL WEBB FULSHEAR AND POLO RANCH AND THE TRAFFII SIGNAL INSTALLATION AT FM 359 AND LIFESTYLE BOULEVARE FORT BEND COUNTY MUNICIPAL UTILITY DISTRICT NO. 171 CITY OF FULSHEAR, FORT BEND COUNTY, TEXAS FEBRUARY 12, 2025
LIA ENGINEERING, INC.
A.GUIJOSA

2) DURWOOD GREENE CONSTRUCTION CO. 3) AAA ASPHALT PAVING, INC. 4) FORDE CONSTRUCTION COMPANY

FEBRUARY 13, 2025 1680-8014 (9.2)

1) LARRY YOUNG PAVING

				1) LARKY YO	UNG PAVING	2) DURWOOD GREEN	E CONSTRUCTION CO.	3) AAA ASPHAL	I PAVING, INC.	4) FORDE CONSTRU	CHON COMPANY
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
	TXDOT ITEM NO. 0666 - 6" SOLID WHITE REFLECTIVE PAVEMENT MARKINGS, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	1734	\$1.95	\$3,381.30	\$1.50	\$2,601.00	\$1.75	\$3,034.50	\$1.30	\$2,254.20
12	TXDOT ITEM NO. 0666 - SOLID WHITE REFLECTIVE PAVEMENT MARKINGS (ARROW), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	2	\$380.00	\$760.00	\$200.00	\$400.00	\$350.00	\$700.00	\$170.00	\$340.00
13.	TXDOT ITEM NO. 0666 - SOLID WHITE REFLECTIVE PAVEMENT MARKINGS (WORDS), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	2	\$400.00	\$800.00	\$200.00	\$400.00	\$375.00	\$750.00	\$180.00	\$360.00
14	INSTALL AND MAINTAIN REINFORCED FILTER FABRIC FENCE, (TO BE USED ONLY AT THE WRITTEN DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	LF	1967	\$3.00	\$5,901.00	\$4.00	\$7,868.00	\$2.50	\$4,917.50	\$4.10	\$8,064.70
15	HYDROMULCH SEEDING, FINE GRADING AND WATERING, (TO BE USED ONLY AT THE WRITTEN DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	AC	0.4	\$1,900.00	\$760.00	\$2,500.00	\$1,000.00	\$3,250.00	\$1,300.00	\$6,000.00	\$2,400.00
16.	TXDOT ITEM NO. 0464 - 24" RCP STORM SEWER, ASTM C-76, CLASS III, TO INCLUDE BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	154	\$155.00	\$23,870.00	\$170.00	\$26,180.00	\$165.00	\$25,410.00	\$179.00	\$27,566.00
17.	TXDOT ITEM NO. 0467 - 6:1 SAFETY END TREATMENT FOR 24" RCP PIPE, IN ACCORDANCE WITH PLANS AND SPECIFICATIONS, ALL DEPTHS, COMPLETE IN PLACE	EA	4	\$2,000.00	\$8,000.00	\$2,200.00	\$8,800.00	\$3,200.00	\$12,800.00	\$2,300.00	\$9,200.00
18.	EXCAVATION FOR TURN LANE SUBGRADE, BASE, AND ASPHALT EXTENSION, TO INCLUDE PLACEMENT AND COMPACTION TO 95% STANDARD PROCTOR DENSITY WITHIN THE FM 359 ROADSIDE DITCH TO REFORM THE DITCH SIDE SLOPE, ANY EXCESS SPOILS CAN BE PLACED ON SITE ADJACENT TO FM 359 ROW AT THE DIRECTION OF THE ENGINEER, COMPLETE IN PLACE	LF	982	\$16.50	\$16,203.00	\$15.00	\$14,730.00	\$19.50	\$19,149.00	\$42.00	\$41,244.00
19	TXDOT ITEM NO. 533 - MILLED RUMBLE STRIP, TO BE USED AT THE DIRECTION OF THE ENGINEER, COMPLETE IN PLACE	LF	1049	\$0.60	\$629.40	\$1.50	\$1,573.50	\$1.75	\$1,835.75	\$1.10	\$1,153.90
20.	TXDOT ITEM NO. 506 - ROCK FILTER DAM, TYPE 2, TO BE USED AT THE DIRECTION OF THE ENGINEER, COMPLETE IN PLACE	EA	1	\$2,000.00	\$2,000.00	\$1,800.00	\$1,800.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00
SUBTOT	AL FULSHEAR INVESTMENTS SOUTHERN TURN LANE			_	\$421,927.68	_	\$432,754.90	_	\$432,440.55	<del>-</del>	\$554,803.24
	AR INVESTMENTS NORTHERN TURN LANE AND DRIVEWAY TXDOT ITEM NO. 0105 - 2' SAW CUT AND REMOVAL OF EXISTING ASPHALT AND BASE, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	985	\$4.50	\$4,432.50	\$20.00	\$19,700.00	\$3.50	\$3,447.50	\$11.00	\$10,835.00
2.	TXDOT ITEM NO. 0292 -16" ASPHALT BASE, COMPLETE IN PLACE	SY	1578	\$125.00	\$197,250.00	\$118.00	\$186,204.00	\$110.00	\$173,580.00	\$120.00	\$189,360.00
3.	TXDOT ITEM NO. TXDOT ITEM 0341 - 2" HOT MIX ASPHALT TYPE D (PG 70-22), SAC-A, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	SY	1456	\$18.00	\$26,208.00	\$20.00	\$29,120.00	\$18.00	\$26,208.00	\$26.00	\$37,856.00
4.	TXDOT ITEM NO. 0512 - INSTALLATION, MAINTENCE AND REMOVAL OF LOW PROFILE CONCRETE TRAFFIC BARRIERS, TO BE USED ONLY AT THE WRITTEN DIRECTION OF THE ENGINEER, COMPLETE IN PLACE	LF	985	\$33.50	\$32,997.50	\$20.00	\$19,700.00	\$55.00	\$54,175.00	\$124.00	\$122,140.00
5.	TXDOT ITEM NO. 0152 - ROADSIDE DITCH REGRADING, CONTRACTOR TO RE-ESTABLISH EXISTING ROADSIDE DITCH TO PRE-PROJECT CONDITIONS AND FLOW DIRECTION, TO INCLUDE DEMUCKING AND FILLING AS NECESSARY, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	470	\$15.00	\$7,050.00	\$25.00	\$11,750.00	\$18.00	\$8,460.00	\$15.00	\$7,050.00

CONSTRUCTION OF THE PAVING, STRIPING AND APPURTENANCES TO SERVE THE FM 359 IMPROVEMENTS ADJACENT TO DEL WEBB FULSHEAR AND POLO RANCH AND THE TRAFFI SIGNAL INSTALLATION AT FM 359 AND LIFESTYLE BOULEVARD FORT BEND COUNTY MUNICIPAL UTILITY DISTRICT NO. 174

CITY OF FULSHEAR, FORT BEND COUNTY, TEXAS

FEBRUARY 12, 2025 LJA ENGINEERING, INC. A.GUIJOSA FEBRUARY 13, 2025 1680-8014 (9.2)

			1) LARRY YO	UNG PAVING	2) DURWOOD GREEN	IE CONSTRUCTION CO.	3) AAA ASPHALT	Γ PAVING, INC.	4) FORDE CONSTRUC	CTION COMPANY
NO. ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
6. TEMPORARY TRAFFIC CONTROL FOR FULSHEAR INVESTMENTS NORTHERN TURN LANE AND DRIVEWAY, INCLUDES INSTALLATION, IMPLEMENTATION AND REMOVAL UPON COMPLETION, FLAGGERS AND TEMPORARY TRAFFIC CONTROL DEVICES, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LS	1	\$2,800.00	\$2,800.00	\$5,000.00	\$5,000.00	\$8,000.00	\$8,000.00	\$3,000.00	\$3,000.00
<ol> <li>TXDOT ITEM NO. 0292 - TACK COAT BINDER FOR TURN LANE, IN ACCORDANCE WITH PLANS AND SPECIFICATIONS, COMPLETE IN PLACE</li> </ol>	SY	1456	\$0.70	\$1,019.20	\$0.50	\$728.00	\$1.50	\$2,184.00	\$0.30	\$436.80
<ol> <li>TXDOT ITEM NO. 0678 - PREPARE SURFACE FOR PAVEMENT MARKING (6"), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE</li> </ol>	LF	1185	\$0.07	\$82.95	\$0.10	\$118.50	\$0.05	\$59.25	\$0.06	\$71.10
<ol> <li>TXDOT ITEM NO. 0678 - PREPARE SURFACE FOR PAVEMENT MARKING (ARROW), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE</li> </ol>	EA	2	\$7.25	\$14.50	\$20.00	\$40.00	\$6.50	\$13.00	\$16.00	\$32.00
<ol> <li>TXDOT ITEM NO. 0678 - PREPARE SURFACE FOR PAVEMENT MARKING (WORD), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE</li> </ol>	EA	2	\$7.25	\$14.50	\$20.00	\$40.00	\$6.50	\$13.00	\$16.00	\$32.00
<ol> <li>TXDOT ITEM NO. 0666 - 6" SOLID WHITE REFLECTIVE PAVEMENT MARKINGS, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE</li> </ol>	LF	1185	\$1.95	\$2,310.75	\$1.50	\$1,777.50	\$1.75	\$2,073.75	\$1.25	\$1,481.25
<ol> <li>TXDOT ITEM NO. 0666 - SOLID WHITE REFLECTIVE PAVEMENT MARKINGS (ARROW), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE</li> </ol>	S EA	2	\$380.00	\$760.00	\$200.00	\$400.00	\$350.00	\$700.00	\$170.00	\$340.00
<ol> <li>TXDOT ITEM NO. 0666 - SOLID WHITE REFLECTIVE PAVEMENT MARKINGS (WORDS), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE</li> </ol>	S EA	2	\$400.00	\$800.00	\$200.00	\$400.00	\$375.00	\$750.00	\$180.00	\$360.00
14. INSTALL AND MAINTAIN REINFORCED FILTER FABRIC FENCE, (TO BE USED ONLY AT THE WRITTEN DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	) LF	1625	\$3.00	\$4,875.00	\$4.00	\$6,500.00	\$2.50	\$4,062.50	\$4.15	\$6,743.75
<ol> <li>HYDROMULCH SEEDING, FINE GRADING AND WATERING, (TO BE USED ONLY AT THE WRITTEN DIRECTION OF THE ENGINEER), COMPLETE IN PLACE</li> </ol>	AC	0.4	\$1,900.00	\$760.00	\$2,500.00	\$1,000.00	\$3,250.00	\$1,300.00	\$6,000.00	\$2,400.00
16. TXDOT ITEM NO. 0464 - 24" RCP STORM SEWER, ASTM C-76, CLASS III, TC INCLUDE BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	) LF	171	\$155.00	\$26,505.00	\$170.00	\$29,070.00	\$165.00	\$28,215.00	\$170.00	\$29,070.00
17. TXDOT ITEM NO. 0467 - 6:1 SAFETY END TREATMENT FOR 24" RCP PIPE, IN ACCORDANCE WITH PLANS AND SPECIFICATIONS, ALL DEPTHS, COMPLETE IN PLACE	EA	4	\$2,000.00	\$8,000.00	\$2,200.00	\$8,800.00	\$3,200.00	\$12,800.00	\$2,300.00	\$9,200.00
18. EXCAVATION FOR TURN LANE SUBGRADE BASE, AND ASPHALT EXTENSION, TO INCLUDE PLACEMENT AND COMPACTION TO 95% STANDARD PROCTOR DENSITY WITHIN THE FM 359 ROADSIDE DITCH TO REFORM THE DITCH SIDE SLOPE, ANY EXCESS SPOILS CAN BE PLACED ON SITE ADJACENT TO FM 359 ROW AT THE DIRECTION OF THE ENGINEER, COMPLETE IN PLACE	LF	985	\$16.50	\$16,252.50	\$15.00	\$14,775.00	\$19.50	\$19,207.50	\$32.00	\$31,520.00
19. TXDOT ITEM NO. 533 - MILLED RUMBLE STRIP, TO BE USED AT THE DIRECTION OF THE ENGINEER, COMPLETE IN PLACE	LF	1185	\$0.60	\$711.00	\$1.50	\$1,777.50	\$1.75	\$2,073.75	\$1.10	\$1,303.50
20. TXDOT ITEM NO. 506 - ROCK FILTER DAM, TYPE 2, TO BE USED AT THE DIRECTION OF THE ENGINEER, COMPLETE IN PLACE	EA	1	\$2,000.00	\$2,000.00	\$1,800.00	\$1,800.00	\$2,000.00	\$2,000.00	\$1,000.00	\$1,000.00
SUBTOTAL FULSHEAR INVESTMENTS NORTHERN TURN LANE AND DRIVEWAY				\$334,843.40	=	\$338,700.50	_	\$349,322.25		\$454,231.40

CONSTRUCTION OF THE PAVING, STRIPING AND APPURTENANCES TO SERVE THE FM 359 IMPROVEMENTS ADJACENT TO DEL WEBB FULSHEAR AND POLO RANCH AND THE TRAFFIFING INSTALLATION AT FM 359 AND LIFESTYLE BOULEVARE.
FORT BEND COUNTY MUNICIPAL UTILITY DISTRICT NO. 245, FORT BEND COUNTY MUNICIPAL UTILITY DISTRICT NO. 171.

CITY OF FULSHEAR, FORT BEND COUNTY, TEXAS

FEBRUARY 12, 2025 LJA ENGINEERING, INC.

LJA ENGINEERING, IN A.GUIJOSA FEBRUARY 13, 2025 1680-8014 (9.2)

			1) LARRY YO	DUNG PAVING	2) DURWOOD GREE	NE CONSTRUCTION CO.	3) AAA ASPHALT	Γ PAVING, INC.	4) FORDE CONSTRU	CTION COMPANY
NO. ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
DEL WEBB FULSHEAR TURN LANES  1. TXDOT ITEM NO. 0105 - 2' SAW CUT AND REMOVAL OF EXISTING ASPHALT AND BASE, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	508	\$4.50	\$2,286.00	\$20.00	\$10,160.00	\$3.50	\$1,778.00	\$16.00	\$8,128.00
2. TXDOT ITEM NO. 0292 -16" ASPHALT BASE, COMPLETE IN PLACE	SY	808	\$125.00	\$101,000.00	\$118.00	\$95,344.00	\$110.00	\$88,880.00	\$115.00	\$92,920.00
<ol> <li>TXDOT ITEM NO. 0341 - 2" HOT MIX ASPHALT TYPE D (PG 70-22), SAC-A, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE</li> </ol>	SY	753	\$18.00	\$13,554.00	\$20.00	\$15,060.00	\$18.00	\$13,554.00	\$25.00	\$18,825.00
<ol> <li>TXDOT ITEM NO. 0512 - INSTALLATION, MAINTENCE AND REMOVAL OF LOW PROFILE CONCRETE TRAFFIC BARRIERS, TO BE USED ONLY AT THE WRITTEN DIRECTION OF THE ENGINEER, COMPLETE IN PLACE</li> </ol>	LF	508	\$33.50	\$17,018.00	\$20.00	\$10,160.00	\$55.00	\$27,940.00	\$129.00	\$65,532.00
5. TXDOT ITEM NO. 0152 - ROADSIDE DITCH REGRADING, CONTRACTOR TO RE-ESTABLISH EXISTING ROADSIDE DITCH TO PRE-PROJECT CONDITIONS AND FLOW DIRECTION, TO INCLUDE DEMUCKING AND FILLING AS NECESSARY, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	451	\$15.00	\$6,765.00	\$25.00	\$11,275.00	\$18.00	\$8,118.00	\$14.00	\$6,314.00
6. TEMPORARY TRAFFIC CONTROL FOR DEL WEBB FULSHEAR TURN LANES, INCLUDES INSTALLATION, IMPLEMENTATION AND REMOVAL UPON COMPLETION, FLAGGERS AND TEMPORARY TRAFFIC CONTROL DEVICES, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LS	1	\$2,800.00	\$2,800.00	\$10,000.00	\$10,000.00	\$8,000.00	\$8,000.00	\$4,500.00	\$4,500.00
7. TXDOT ITEM NO. 0292 - TACK COAT BINDER FOR TURN LANE, IN ACCORDANCE WITH PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	SY	753	\$0.70	\$527.10	\$0.50	\$376.50	\$1.50	\$1,129.50	\$0.30	\$225.90
<ol> <li>TXDOT ITEM NO. 0678 - PREPARE SURFACE FOR PAVEMENT MARKING (6"), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE</li> </ol>	LF	1025	\$0.07	\$71.75	\$0.10	\$102.50	\$0.05	\$51.25	\$0.06	\$61.50
TXDOT ITEM NO. 0678 - PREPARE SURFACE FOR PAVEMENT MARKING (ARROW), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	2	\$7.25	\$14.50	\$20.00	\$40.00	\$6.50	\$13.00	\$16.00	\$32.00
10. TXDOT ITEM NO. 0678 - PREPARE SURFACE FOR PAVEMENT MARKING (WORD), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	2	\$7.25	\$14.50	\$20.00	\$40.00	\$6.50	\$13.00	\$16.00	\$32.00
11. TXDOT ITEM NO. 0666 - 6" SOLID WHITE REFLECTIVE PAVEMENT MARKINGS, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	1025	\$1.95	\$1,998.75	\$1.50	\$1,537.50	\$1.50	\$1,537.50	\$1.30	\$1,332.50
<ol> <li>TXDOT ITEM NO. 0666 - SOLID WHITE REFLECTIVE PAVEMENT MARKINGS (ARROW), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE</li> </ol>	EA	2	\$380.00	\$760.00	\$200.00	\$400.00	\$350.00	\$700.00	\$172.00	\$344.00
<ol> <li>TXDOT ITEM NO. 0666 - SOLID WHITE REFLECTIVE PAVEMENT MARKINGS (WORDS), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE</li> </ol>	EA	2	\$400.00	\$800.00	\$20.00	\$40.00	\$375.00	\$750.00	\$182.00	\$364.00
14. INSTALL AND MAINTAIN REINFORCED FILTER FABRIC FENCE, (TO BE USED ONLY AT THE WRITTEN DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	LF	997	\$3.00	\$2,991.00	\$4.00	\$3,988.00	\$2.50	\$2,492.50	\$4.10	\$4,087.70
15. HYDROMULCH SEEDING, FINE GRADING AND WATERING, (TO BE USED ONLY AT THE WRITTEN DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	AC	0.2	\$1,900.00	\$380.00	\$2,500.00	\$500.00	\$3,250.00	\$650.00	\$6,000.00	\$1,200.00

BID OPENING DATE:

TABULATION DATE:

LJA JOB NO.

BID OPENING LOCATION: TABULATION BY:

CONSTRUCTION OF THE PAVING, STRIPING AND APPURTENANCES TO SERVE THE FM 359 IMPROVEMENTS ADJACENT TO DEL WEBB FULSHEAR AND POLO RANCH AND THE TRAFFI SIGNAL INSTALLATION AT FM 359 AND LIFESTYLE BOULEVARD FORT BEND COUNTY MUNICIPAL UTILITY DISTRICT NO. 174

CITY OF FULSHEAR, FORT BEND COUNTY, TEXAS

FEBRUARY 12, 2025 LJA ENGINEERING, INC. A.GUIJOSA

FEBRUARY 13, 2025 1680-8014 (9.2)

				1) LARRY YO	DUNG PAVING	2) DURWOOD GREEN	NE CONSTRUCTION CO.	3) AAA ASPHAI	LT PAVING, INC.	4) FORDE CONSTRU	CTION COMPANY
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
16.	EXCAVATION FOR TURN LANE SUBGRADE, BASE, AND ASPHALT EXTENSION, TO INCLUDE PLACEMENT AND COMPACTION TO 95% STANDARD PROCTOR DENSITY WITHIN THE FM 359 ROADSIDE DITCH TO REFORM THE DITCH SIDE SLOPE, ANY EXCESS SPOILS CAN BE PLACED ON SITE ADJACENT TO FM 359 ROW AT THE DIRECTION OF THE ENGINEER, COMPLETE IN PLACE	LF	507	\$16.50	\$8,365.50	\$15.00	\$7,605.00	\$19.50	\$9,886.50	\$32.00	\$16,224.00
	REMOVAL AND DISPOSAL OF EXISTING TYPE 7 RAMP ALONG LIFESTYLE BOULEVARD, TO INCLUDE 6" CURB INSTALLATION WHERE EXISTING RAMPS WERE PREVIOUSLY LOCATED, COMPLETE IN PLACE	EA	2	\$400.00	\$800.00	\$700.00	\$1,400.00	\$850.00	\$1,700.00	\$22.00	\$44.00
	TYPE 7 RAMP, TO INCLUDE CONNECTION OF PROPOSED RAMP TO PROPOSED ASPHALT PAVEMENT AND OVERLAY, COMPLETE IN PLACE	EA	2	\$2,800.00	\$5,600.00	\$3,200.00	\$6,400.00	\$6,700.00	\$13,400.00	\$3,600.00	\$7,200.00
	5' REINFORCED CONCRETE SIDEWALK, TO INCLUDE LEVELING SAND, SUBGRADE, AND CONNECTION OF PROPOSED SIDEWALK TO PROPOSED RAMPS AND	LF	30	\$190.00	\$5,700.00	\$85.00	\$2,550.00	\$80.00	\$2,400.00	\$70.00	\$2,100.00
	ECONOMIC INCENTIVE FOR FINAL COMPLETION OF THE DEL WEBB FULSHEAR TURN LANES PRIOR TO 45 CALENDAR DAYS FROM THE DATE OF THE NOTICE TO PROCEED, TOTAL MAXIMUM PAYMENT OF \$100,000 (20 DAYS)	DAY	0	\$5,000.00	\$0.00	\$5,000.00	\$0.00	\$5,000.00	\$0.00	\$5,000.00	\$0.00
	TXDOT ITEM NO. 0677 AND 0672 - INSTALLATION AND REMOVAL OF RAISED PAVEMENT MARKERS TO MARK EDGE OF TRAVEL LANE, TO INCLUDE TYPE I-C AND TYPE W BUTTONS AS SHOWN IN DETAILS AND SPECIFICATIONS, TO BE USED AT THE DIRECTION OF THE ENGINEER, COMPLETE IN PLACE	LF	4590	\$1.73	\$7,940.70	\$1.75	\$8,032.50	\$1.50	\$6,885.00	\$1.40	\$6,426.00
	TXDOT ITEM NO. 533 - MILLED RUMBLE STRIP, TO BE USED AT THE DIRECTION OF THE ENGINEER, COMPLETE IN PLACE	LF	497	\$0.60	\$298.20	\$1.50	\$745.50	\$1.75	\$869.75	\$1.15	\$571.55
	TXDOT ITEM NO. 506 - ROCK FILTER DAM, TYPE 2, TO BE USED AT THE DIRECTION OF THE ENGINEER, COMPLETE IN PLACE	EA	1	\$2,000.00	\$2,000.00	\$1,800.00	\$1,800.00	\$2,000.00	\$2,000.00	\$30.00	\$30.00
	TXDOT ITEM NO. 0666 - 6" SOLID WHITE REFLECTIVE PAVEMENT MARKINGS FOR REMAINDER OF PHASE 1 EXTERIOR WHITE LANE STRIPE, TO BE USED AT THE DIRECTION OF THE ENGINEER, COMPLETE IN PLACE	LF	4255	\$1.95	\$8,297.25	\$1.50	\$6,382.50	\$1.75	\$7,446.25	\$1.27	\$5,403.85
	TXDOT ITEM NO. 0678 - PREPARE SURFACE FOR PAVEMENT MARKINGS (6") FOR REMAINDER OF PHAE 1 EXTERIOR WHITE LANE STRIPE, TO BE USED AT THE DIRECTION OF THE ENGINEER, COMPLETE IN PLACE	LF	4255	\$0.09	\$382.95	\$0.10	\$425.50	\$0.05	\$212.75	\$0.06	\$255.30
SUBTOT	AL DEL WEBB FULSHEAR TURN LANES	4		-	\$190,365.20	-	\$194,364.50	_	\$200,407.00		\$242,153.30
1.	SIGNAL INSTALLATION AT FM 359 AND LIFESTYLE BOULEVARD ITEM! TXDOT ITEM NO. 416 - DRILL SHAFT (TRF SIG POLE) (36 IN), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	44	\$215.00	\$9,460.00	\$500.00	\$22,000.00	\$665.00	\$29,260.00	\$415.00	\$18,260.00
	TXDOT ITEM NO. 618 - CONDT PVC (SCHD 80), (2"), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	45	\$11.00	\$495.00	\$20.00	\$900.00	\$35.00	\$1,575.00	\$32.00	\$1,440.00
	TXDOT ITEM NO. 618 - CONDT PVC (SCHD 80) (3"), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	80	\$12.00	\$960.00	\$22.00	\$1,760.00	\$37.00	\$2,960.00	\$34.00	\$2,720.00
`	TXDOT ITEM NO. 618 - CONDT PVC (SCHD 80) (3")(BORE), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	185	\$20.00	\$3,700.00	\$24.00	\$4,440.00	\$40.00	\$7,400.00	\$30.00	\$5,550.00
	TXDOT ITEM NO. 618 - CONDT PVC (SCHD 80) (4"), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	35	\$15.00	\$525.00	\$26.00	\$910.00	\$40.50	\$1,417.50	\$85.00	\$2,975.00
	TXDOT ITEM NO. $620$ - ELEC CONDR (NO. 8) BARE, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	370	\$1.50	\$555.00	\$2.00	\$740.00	\$3.25	\$1,202.50	\$3.50	\$1,295.00

BID OPENING DATE:

TABULATION DATE:

LJA JOB NO.

BID OPENING LOCATION: TABULATION BY:

CONSTRUCTION OF THE PAVING, STRIPING AND APPURTENANCES TO SERVE THE FM 359 IMPROVEMENTS ADJACENT TO DEL WEBB FULSHEAR AND POLO RANCH AND THE TRAFFI SIGNAL INSTALLATION AT FM 359 AND LIFESTYLE BOULEVARD FORT BEND COUNTY MUNICIPAL UTILITY DISTRICT NO. 174

CITY OF FULSHEAR, FORT BEND COUNTY, TEXAS

FEBRUARY 12, 2025 LJA ENGINEERING, INC. A.GUIJOSA

FEBRUARY 13, 2025 1680-8014 (9.2)

				1) LARRY YOU	UNG PAVING	2) DURWOOD GREET	NE CONSTRUCTION CO.	3) AAA ASPHAL	T PAVING, INC.	4) FORDE CONSTRU	CTION COMPANY
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
	TXDOT ITEM NO. 620 - ELEC CONDR (NO. 4) INSULATED, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	35	\$2.80	\$98.00	\$3.50	\$122.50	\$10.50	\$367.50	\$5.35	\$187.25
8	TXDOT ITEM NO. 621 - TRAY CABLE (4 CONDR) (12 AWG), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	365	\$1.80	\$657.00	\$3.50	\$1,277.50	\$4.50	\$1,642.50	\$3.50	\$1,277.50
9	TXDOT ITEM NO. 624 - GROUND BOX TY D (162922) W/APRON, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	3	\$1,200.00	\$3,600.00	\$1,700.00	\$5,100.00	\$7,200.00	\$21,600.00	\$1,170.00	\$3,510.00
10	TXDOT ITEM NO. 624 - GROUND BOX TY 2 (243636) W/APRON (POLYMER), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	1	\$1,900.00	\$1,900.00	\$4,500.00	\$4,500.00	\$2,025.00	\$2,025.00	\$3,000.00	\$3,000.00
11	TXDOT ITEM NO. 628 - ELC SRV TY D 120/240 060(NS)SS(E)SP(O), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	1	\$7,000.00	\$7,000.00	\$10,700.00	\$10,700.00	\$9,700.00	\$9,700.00	\$10,500.00	\$10,500.00
12	TXDOT ITEM NO. 666 - RETROREFLECTORIZED PAV MRK (24")(SLD), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	100	\$50.00	\$5,000.00	\$122.00	\$12,200.00	\$46.00	\$4,600.00	\$9.20	\$920.00
13	TXDOT ITEM NO. 666 - PAVEMENT SEALER 24", IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	100	\$2.90	\$290.00	\$7.00	\$700.00	\$2.50	\$250.00	\$5.35	\$535.00
14	TXDOT ITEM NO. 677 - ELIM EXT PM & MRKS (24"), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	24	\$5,25	\$126.00	\$10.00	\$240.00	\$5.00	\$120.00	\$5.35	\$128.40
15	TXDOT ITEM NO. 678 - PAV SURF PREP FOR MRK (24"), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	100	\$1.00	\$100.00	\$5.00	\$500.00	\$1.00	\$100.00	\$2.70	\$270.00
16	TXDOT ITEM NO. 680 - INSTALL HWY TRF SIG (SYSTEM), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	1	\$30,500.00	\$30,500.00	\$36,000.00	\$36,000.00	\$59,000.00	\$59,000.00	\$50,000.00	\$50,000.00
17	SUB-ITEM NO. 16. THIS ITEM IS SUBSIDIARY TO BASE BID ITEM NO. 16. ALL COSTS ASSOCIATED WITH THIS WORK SHALL BE INCLUDED IN THE BID FOR ITEM NO. 16. TXDOT ITEM NO. 680 - CNT FULL ACTUATED SOLID STATE W/ NEMA CAB, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	1	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
18	SUB-ITEM NO. 16. THIS ITEM IS SUBSIDIARY TO BASE BID ITEM NO. 16. ALL COSTS ASSOCIATED WITH THIS WORK SHALL BE INCLUDED IN THE BID FOR ITEM NO. 16. TXDOT ITEM NO. 680 - CNT CAB FOUNDATION, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	1	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
19	SUB-ITEM NO. 16. THIS ITEM IS SUBSIDIARY TO BASE BID ITEM NO. 16. ALL COSTS ASSOCIATED WITH THIS WORK SHALL BE INCLUDED IN THE BID FOR ITEM NO. 16. TXDOT ITEM NO. 680 - ROD 5/8"X10' COPPER-CLAD GROUND (CNT ONLY), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLAC	EA	1	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
20	SUB-ITEM NO. 16. THIS ITEM IS SUBSIDIARY TO BASE BID ITEM NO. 16. ALL COSTS ASSOCIATED WITH THIS WORK SHALL BE INCLUDED IN THE BID FOR ITEM NO. 16. TXDOT ITEM NO. 680 - 18-INCH CABINET BASE EXTENSION, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	1	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
21	SUB-ITEM NO. 16. THIS ITEM IS SUBSIDIARY TO BASE BID ITEM NO. 16. ALL COSTS ASSOCIATED WITH THIS WORK SHALL BE INCLUDED IN THE BID FOR ITEM NO. 16. TXDOT ITEM NO. 680 - OVERHEAD SIGN, FM 359 (48"X18") 6 5F, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	1	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00

CONSTRUCTION OF THE PAVING, STRIPING AND APPURTENANCES TO SERVE THE FM 359 IMPROVEMENTS ADJACENT TO DEL WEBB FULSHEAR AND POLO RANCH AND THE TRAFFI SIGNAL INSTALLATION AT FM 359 AND LIFESTYLE BOULEVARD FORT BEND COUNTY MUNICIPAL UTILITY DISTRICT NO. 174

CITY OF FULSHEAR, FORT BEND COUNTY, TEXAS FEBRUARY 12, 2025

LJA ENGINEERING, INC. A.GUIJOSA FEBRUARY 13, 2025 1680-8014 (9.2)

			1) LARRY YO	UNG PAVING	2) DURWOOD GREEN	IE CONSTRUCTION CO.	3) AAA ASPHAI	T PAVING, INC.	4) FORDE CONSTRU	CTION COMPANY
NO. ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
22. SUB-ITEM NO. 16. THIS ITEM IS SUBSIDIARY TO BASE BID ITEM NO. 16. ALL COSTS ASSOCIATED WITH THIS WORK SHALL BE INCLUDED IN THE BID FOR ITEM NO. 16. TXDOT ITEM NO. 680 - OVERHEAD SIGN, LIFESTYLE BLVD (78"Y18") 9.8 SF, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	2	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
23. SUB-ITEM NO. 16. THIS ITEM IS SUBSIDIARY TO BASE BID ITEM NO. 16. ALL COSTS ASSOCIATED WITH THIS WORK SHALL BE INCLUDED IN THE BIE FOR ITEM NO. 16. TXDOT ITEM NO. 680 - MAST ARM DAMPENER, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	3	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
24. SUB-ITEM NO. 16. THIS ITEM IS SUBSIDIARY TO BASE BID ITEM NO. 16. ALL COSTS ASSOCIATED WITH THIS WORK SHALL BE INCLUDED IN THE BID FOR ITEM NO. 16. TXDOT ITEM NO. 680 - CELLULAR MODEM, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	1	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
25. SUB-ITEM NO. 16. THIS ITEM IS SUBSIDIARY TO BASE BID ITEM NO. 16. ALL COSTS ASSOCIATED WITH THIS WORK SHALL BE INCLUDED IN THE BID FOR ITEM NO. 16. TXDOT ITEM NO. 680 - LED RDWY LUMINAIRE (.25 KW EQ), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE		2	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
26. TXDOT ITEM NO. 682 - VEH SIG SEC (12 IN) LED (GRN), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	6	\$230.00	\$1,380.00	\$220.00	\$1,320.00	\$450.00	\$2,700.00	\$320.00	\$1,920.00
<ol> <li>TXDOT ITEM NO. 682 - VEH SIG SEC (12 IN) LED (GRN ARW), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE</li> </ol>	EA	1	\$230.00	\$230.00	\$240.00	\$240.00	\$450.00	\$450.00	\$320.00	\$320.00
<ol> <li>TXDOT ITEM NO. 682 - VEH SIG SEC (12 IN) LED (YEL), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE</li> </ol>	EA	6	\$230.00	\$1,380.00	\$240.00	\$1,440.00	\$450.00	\$2,700.00	\$320.00	\$1,920.00
29. TXDOT ITEM NO. 682 - VEH SIG SEC (12 IN) LED (YEL ARW), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	1	\$230.00	\$230.00	\$240.00	\$240.00	\$450.00	\$450.00	\$320.00	\$320.00
30. TXDOT ITEM NO. 682 - VEH SIG SEC (12 IN) LED (RED), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	6	\$230.00	\$1,380.00	\$240.00	\$1,440.00	\$450.00	\$2,700.00	\$320.00	\$1,920.00
31. TXDOT ITEM NO. 682 - VEH SIG SEC (12 IN) LED (RED ARW), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	2	\$230.00	\$460.00	\$240.00	\$480.00	\$450.00	\$900.00	\$320.00	\$640.00
32. TXDOT ITEM NO. 682 - PED SIG SEC (LED) (COUNTDOWN), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	6	\$650.00	\$3,900.00	\$750.00	\$4,500.00	\$570.00	\$3,420.00	\$900.00	\$5,400.00
33. TXDOT ITEM NO. 682 - BACK PLATE W/REF BRDR (4 SEC), IN ACCORDANC WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	E EA	1	\$200.00	\$200.00	\$220.00	\$220.00	\$325.00	\$325.00	\$260.00	\$260.00
34. TXDOT ITEM NO. 682 - BACK PLATE W/REF BRDR (3 SEC), IN ACCORDANC WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	E EA	6	\$150.00	\$900.00	\$200.00	\$1,200.00	\$260.00	\$1,560.00	\$215.00	\$1,290.00
35. TXDOT ITEM NO. 684 - TRF SIG CBL (TY A) (12 AWG) (2 CONDR), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	250	\$2.00	\$500.00	\$2.50	\$625.00	\$2.50	\$625.00	\$2.50	\$625.00
36. TXDOT ITEM NO. 684 - TRF SIG CBL (TY A) (12 AWG) (4 CONDR), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	265	\$2.50	\$662.50	\$2.75	\$728.75	\$3.25	\$861.25	\$2.70	\$715.50
<ol> <li>TXDOT ITEM NO. 684 - TRF SIG CBL (TY A) (12 AWG) (7 CONDR), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE</li> </ol>	LF	635	\$3.50	\$2,222.50	\$3.00	\$1,905.00	\$4.26	\$2,705.10	\$3.20	\$2,032.00

CONSTRUCTION OF THE PAVING, STRIPING AND APPURTENANCES TO SERVE THE FM 359 IMPROVEMENTS ADJACENT TO DEL WEBB FULSHEAR AND POLO RANCH AND THE TRAFFI SIGNAL INSTALLATION AT FM 359 AND LIFESTYLE BOULEVARD FORT BEND COUNTY MUNICIPAL UTILITY DISTRICT NO. 174

CITY OF FULSHEAR, FORT BEND COUNTY, TEXAS

FEBRUARY 12, 2025 LJA ENGINEERING, INC. A.GUIJOSA FEBRUARY 13, 2025 1680-8014 (9.2)

			1) LARRY YO	UNG PAVING	2) DURWOOD GREET	NE CONSTRUCTION CO.	3) AAA ASPHAL	T PAVING, INC.	4) FORDE CONSTRU	CTION COMPANY
NO. ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
38. TXDOT ITEM NO. 686 - INS TRF SIG PL AM(S)1 ARM (32'), IN ACCORDANG		1	\$14,000.00	\$14,000.00	\$16,000.00	\$16,000.00	\$16,000.00	\$16,000.00	\$15,000.00	\$15,000.00
WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE  39. TXDOT ITEM NO. 686 - INS TRF SIG PL AM(S)1 ARM (36') LUM, IN  ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN  PLACE	EA	1	\$15,000.00	\$15,000.00	\$15,700.00	\$15,700.00	\$19,500.00	\$19,500.00	\$16,000.00	\$16,000.00
40. TXDOT ITEM NO. 686 - INS TRF SIG PL AM(S)1 ARM (40') LUM, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	1	\$16,000.00	\$16,000.00	\$18,200.00	\$18,200.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00
41. TXDOT ITEM NO. 687 - PED POLE ASSEMBLY, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	E EA	2	\$1,000.00	\$2,000.00	\$4,400.00	\$8,800.00	\$1,176.00	\$2,352.00	\$2,600.00	\$5,200.00
42. TXDOT ITEM NO. 687 - SCREW-IN ANCHOR FOUNDATION, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	2	\$1,800.00	\$3,600.00	\$900.00	\$1,800.00	\$2,225.00	\$4,450.00	\$695.00	\$1,390.00
43. TXDOT ITEM NO. 688 - PED DETECT PUSH BUTTON (APS), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	2	\$1,000.00	\$2,000.00	\$1,400.00	\$2,800.00	\$1,300.00	\$2,600.00	\$1,000.00	\$2,000.00
44. TXDOT ITEM NO. 688 - PED DETECTOR CONTROLLER UNIT, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	1	\$2,600.00	\$2,600.00	\$5,200.00	\$5,200.00	\$4,100.00	\$4,100.00	\$4,000.00	\$4,000.00
45. TXDOT ITEM NO. 6007 - BBU SYSTEM (EXTERNAL BATT CABINET), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	1	\$8,000.00	\$8,000.00	\$11,000.00	\$11,000.00	\$10,000.00	\$10,000.00	\$9,800.00	\$9,800.00
46. TXDOT ITEM NO. 6008 - RVDS (PRESENCE DETECTION ONLY), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	3	\$16,000.00	\$48,000.00	\$15,000.00	\$45,000.00	\$20,250.00	\$60,750.00	\$15,200.00	\$45,600.00
47. SUB-ITEM NO. 46. THIS ITEM IS SUBSIDIARY TO BASE BID ITEM NO. 46. ALL COSTS ASSOCIATED WITH THIS WORK SHALL BE INCLUDED IN THE B FOR ITEM NO. 46. TXDOT ITEM NO. 6008 - RVDS PRESENCE CABLE, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF ID	440	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
48. SUB-ITEM NO. 46. THIS ITEM IS SUBSIDIARY TO BASE BID ITEM NO. 46. ALL COSTS ASSOCIATED WITH THIS WORK SHALL BE INCLUDED IN THE B FOR ITEM NO. 46. TXDOT ITEM NO. 6008 - RVDS (ADVANCE DETECTION ONLY), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA ID	2	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
49. SUB-ITEM NO. 46. THIS ITEM IS SUBSIDIARY TO BASE BID ITEM NO. 46. ALL COSTS ASSOCIATED WITH THIS WORK SHALL BE INCLUDED IN THE B FOR ITEM NO. 46. TXDOT ITEM NO. 6008 - RVDS ADVANCE CABLE, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF ID	350	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
SUBTOTAL TRAFFIC SIGNAL INSTALLATION AT FM 359 AND LIFESTYLE BOULEVA	RD ITEMS		_	\$189,611.00	-	\$240,928.75	_	\$302,368.35		\$238,920.65
ENCLAVE AT FULSHEAR TURN LANE  1. TXDOT ITEM NO. 0105 - 2 <sup>3</sup> SAW CUT AND REMOVAL OF EXISTING ASPHALT AND BASE, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	860	\$4.50	\$3,870.00	\$20.00	\$17,200.00	\$3.50	\$3,010.00	\$15.00	\$12,900.00
2. TXDOT ITEM NO. 0292 -16" ASPHALT BASE, COMPLETE IN PLACE	SY	1752	\$125.00	\$219,000.00	\$118.00	\$206,736.00	\$110.00	\$192,720.00	\$117.00	\$204,984.00

CONSTRUCTION OF THE PAVING, STRIPING AND APPURTENANCES TO SERVE THE FM 359 IMPROVEMENTS ADJACENT TO DEL WEBB FULSHEAR AND POLO RANCH AND THE TRAFFI SIGNAL INSTALLATION AT FM 359 AND LIFESTYLE BOULEVARC
FORT BEND COUNTY MUNICIPAL UTILITY DISTRICT NO. 245, FORT BEND COUNTY MUNICIPAL UTILITY DISTRICT NO. 174
CITY OF FULSHEAR, FORT BEND COUNTY, TEXAS

FEBRUARY 12, 2025 LJA ENGINEERING, INC. A.GUIJOSA FEBRUARY 13, 2025 1680-8014 (9.2)

				1) LARRY YOU	ING PAVING	2) DURWOOD GREE	NE CONSTRUCTION CO.	3) AAA ASPHAL	T PAVING, INC.	4) FORDE CONSTRU	CTION COMPANY
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
3	TXDOT ITEM NO. 0341 - 2" HOT MIX ASPHALT TYPE D (PG 70-22), SAC-A, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	SY	1640	\$18.00	\$29,520.00	\$20.00	\$32,800.00	\$18.00	\$29,520.00	\$25.00	\$41,000.00
4	TXDOT ITEM NO. 0512 - INSTALLATION, MAINTENCE AND REMOVAL OF LOW PROFILE CONCRETE TRAFFIC BARRIERS, TO BE USED ONLY AT THE WRITTEN DIRECTION OF THE ENGINEER, COMPLETE IN PLACE	LF	860	\$33.50	\$28,810.00	\$20.00	\$17,200.00	\$17.75	\$15,265.00	\$119.00	\$102,340.00
5	TXDOT ITEM NO. 0152 - ROADSIDE DITCH REGRADING, CONTRACTOR TO RE-ESTABLISH EXISTING ROADSIDE DITCH TO PRE-PROJECT CONDITIONS AND FLOW DIRECTION, TO INCLUDE DEMUCKING AND FILLING AS NECESSARY, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	780	\$15.00	\$11,700.00	\$25.00	\$19,500.00	\$18.00	\$14,040.00	\$14.00	\$10,920.00
6	TEMPORARY TRAFFIC CONTROL FOR ENCLAVE AT FULSHEAR TURN LANE, INCLUDES INSTALLATION, IMPLEMENTATION AND REMOVAL UPON COMPLETION, FLAGGERS AND TEMPORARY TRAFFIC CONTROL DEVICES, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LS	1	\$2,800.00	\$2,800.00	\$5,000.00	\$5,000.00	\$7,650.00	\$7,650.00	\$3,000.00	\$3,000.00
7	TXDOT ITEM NO. 0292 - TACK COAT BINDER FOR TURN LANE, IN ACCORDANCE WITH PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	SY	1640	\$0.70	\$1,148.00	\$0.50	\$820.00	\$1.50	\$2,460.00	\$0.29	\$475.60
8	TXDOT ITEM NO. 0678 - PREPARE SURFACE FOR PAVEMENT MARKING (6"), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	1406	\$0.07	\$98.42	\$0.10	\$140.60	\$0.05	\$70.30	\$0.06	\$84.36
9	TXDOT ITEM NO. 0678 - PREPARE SURFACE FOR PAVEMENT MARKING (ARROW), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	2	\$7.22	\$14.44	\$20.00	\$40.00	\$6.50	\$13.00	\$5.35	\$10.70
10	. TXDOT ITEM NO. 0678 - PREPARE SURFACE FOR PAVEMENT MARKING (WORD), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	2	\$7.22	\$14.44	\$20.00	\$40.00	\$6.50	\$13.00	\$5.35	\$10.70
11	TXDOT ITEM NO. 0666 - 6" SOLID WHITE REFLECTIVE PAVEMENT MARKINGS, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	1406	\$1.95	\$2,741.70	\$1.50	\$2,109.00	\$1.75	\$2,460.50	\$1.25	\$1,757.50
12	TXDOT ITEM NO. 0666 - SOLID WHITE REFLECTIVE PAVEMENT MARKINGS (ARROW), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	2	\$382.47	\$764.94	\$200.00	\$400.00	\$350.00	\$700.00	\$171.00	\$342.00
13	TXDOT ITEM NO. 0666 - SOLID WHITE REFLECTIVE PAVEMENT MARKINGS (WORDS), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	2	\$411.33	\$822.66	\$200.00	\$400.00	\$375.00	\$750.00	\$180.00	\$360.00
14	INSTALL AND MAINTAIN REINFORCED FILTER FABRIC FENCE, (TO BE USED ONLY AT THE WRITTEN DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	LF	3104	\$3.00	\$9,312.00	\$4.00	\$12,416.00	\$2.50	\$7,760.00	\$4.10	\$12,726.40
15	HYDROMULCH SEEDING, FINE GRADING AND WATERING, (TO BE USED ONLY AT THE WRITTEN DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	AC	0.7	\$1,900.00	\$1,330.00	\$2,500.00	\$1,750.00	\$3,250.00	\$2,275.00	\$6,000.00	\$4,200.00
16	TXDOT ITEM NO. 0464 - 24" RCP STORM SEWER, ASTM C-76, CLASS III, TO INCLUDE BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	98	\$150.00	\$14,700.00	\$170.00	\$16,660.00	\$165.00	\$16,170.00	\$195.00	\$19,110.00
17	TXDOT ITEM NO. 0467 - 6:1 SAFETY END TREATMENT FOR 24"" RCP PIPE, IN ACCORDANCE WITH PLANS AND SPECIFICATIONS, ALL DEPTHS, COMPLETE IN PLACE	EA	2	\$2,000.00	\$4,000.00	\$2,200.00	\$4,400.00	\$3,200.00	\$6,400.00	\$2,200.00	\$4,400.00
18	TXDOT ITEM NO. 533 - MILLED RUMBLE STRIP, TO BE USED AT THE DIRECTION OF THE ENGINEER, COMPLETE IN PLACE	LF	787	\$0.60	\$472.20	\$1.50	\$1,180.50	\$1.75	\$1,377.25	\$1.10	\$865.70

BID OPENING DATE: BID OPENING LOCATION:

TABULATION DATE: LJA JOB NO.

TABULATION BY:

CONSTRUCTION OF THE PAVING, STRIPING AND APPURTENANCES TO SERVE THE FM 359 IMPROVEMENTS ADJACENT TO DEL WEBB FULSHEAR AND POLO RANCH AND THE TRAFFI SIGNAL INSTALLATION AT FM 359 AND LIFESTYLE BOULEVARD FORT BEND COUNTY MUNICIPAL UTILITY DISTRICT NO. 174

CITY OF FULSHEAR, FORT BEND COUNTY, TEXAS

FEBRUARY 12, 2025 LJA ENGINEERING, INC. A.GUIJOSA FEBRUARY 13, 2025 1680-8014 (9.2)

				1) LARRY YO	UNG PAVING	2) DURWOOD GREEN	NE CONSTRUCTION CO.	3) AAA ASPHAL	T PAVING, INC.	4) FORDE CONSTRU	ICTION COMPANY
NO. ITEM DESCRI		UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
<ol> <li>TXDOT ITEM NO. 506 - ROCK FILTER DAN DIRECTION OF THE ENGINEER, COMPLET</li> </ol>		EA	1	\$2,000.00	\$2,000.00	\$1,800.00	\$1,800.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00
SUBTOTAL ENCLAVE AT FULSHEAR TURN LANE				_	\$333,118.80	-	\$340,592.10	=	\$304,654.05	_	\$421,486.96
POLO RANCH TURN LANE  1. TXDOT ITEM NO. 0105 - 2' SAW CUT ANE ASPHALT AND BASE, IN ACCORDANCE W SPECIFICATIONS, COMPLETE IN PLACE		LF	418	\$4.50	\$1,881.00	\$20.00	\$8,360.00	\$3.50	\$1,463.00	\$13.00	\$5,434.00
2. TXDOT ITEM NO. 0292 - 16" ASPHALT BA	SE, COMPLETE IN PLACE	SY	607	\$125.00	\$75,875.00	\$118.00	\$71,626.00	\$110.00	\$66,770.00	\$118.00	\$71,626.00
<ol> <li>TXDOT ITEM NO. 0341 - 2" HOT MIX ASP IN ACCORDANCE WITH THE PLANS AND SPLACE</li> </ol>		SY	562	\$18.00	\$10,116.00	\$20.00	\$11,240.00	\$18.00	\$10,116.00	\$25.00	\$14,050.00
<ol> <li>TXDOT ITEM NO. 0512 - INSTALLATION, I LOW PROFILE CONCRETE TRAFFIC BARRI WRITTEN DIRECTION OF THE ENGINEER,</li> </ol>	ERS, TO BE USED ONLY AT THE	LF	418	\$33.50	\$14,003.00	\$20.00	\$8,360.00	\$55.00	\$22,990.00	\$110.00	\$45,980.00
5. TXDOT ITEM NO. 0152 - ROADSIDE DITCH RE-ESTABLISH EXISTING ROADSIDE DITCH AND FLOW DIRECTION, TO INCLUDE DEN NECESSARY, IN ACCORDANCE WITH THE COMPLETE IN PLACE	TO PRE-PROJECT CONDITIONS STUCKING AND FILLING AS	LF	365	\$15.00	\$5,475.00	\$25.00	\$9,125.00	\$18.00	\$6,570.00	\$14.00	\$5,110.00
<ol> <li>TEMPORARY TRAFFIC CONTROL FOR FUL TURN LANES, INCLUDES INSTALLATION, I REMOVAL UPON COMPLETION, FLAGGEI CONTROL DEVICES, IN ACCORDANCE WI'S SPECIFICATIONS, COMPLETE IN PLACE</li> </ol>	MPLEMENTATION AND RS AND TEMPORARY TRAFFIC	LS	1	\$2,800.00	\$2,800.00	\$5,000.00	\$5,000.00	\$8,000.00	\$8,000.00	\$3,000.00	\$3,000.00
<ol> <li>TXDOT ITEM NO. 0292 - TACK COAT BIND ACCORDANCE WITH PLANS AND SPECIFIC</li> </ol>		SY	562	\$0.70	\$393.40	\$0.50	\$281.00	\$1.50	\$843.00	\$0.30	\$168.60
8. TXDOT ITEM NO. 0678 - PREPARE SURFA (6"), IN ACCORDANCE WITH THE PLANS / IN PLACE		LF	1152	\$0.07	\$80.64	\$0.10	\$115.20	\$0.05	\$57.60	\$0.06	\$69.12
<ol> <li>TXDOT ITEM NO. 0678 - PREPARE SURFA (ARROW), IN ACCORDANCE WITH THE PL COMPLETE IN PLACE</li> </ol>		EA	2	\$7.22	\$14.44	\$20.00	\$40.00	\$6.50	\$13.00	\$16.00	\$32.00
<ol> <li>TXDOT ITEM NO. 0678 - PREPARE SURFA (WORD), IN ACCORDANCE WITH THE PLACE COMPLETE IN PLACE</li> </ol>		EA	2	\$7.22	\$14.44	\$20.00	\$40.00	\$6.50	\$13.00	\$16.00	\$32.00
11. TXDOT ITEM NO. 0666 - 6" SOLID WHITE MARKINGS, IN ACCORDANCE WITH THE COMPLETE IN PLACE		LF	1152	\$1.95	\$2,246.40	\$1.50	\$1,728.00	\$1.75	\$2,016.00	\$1.30	\$1,497.60
<ol> <li>TXDOT ITEM NO. 0666 - SOLID WHITE RE (ARROW), IN ACCORDANCE WITH THE PL COMPLETE IN PLACE</li> </ol>		EA	2	\$385.00	\$770.00	\$200.00	\$400.00	\$350.00	\$700.00	\$172.00	\$344.00
<ol> <li>TXDOT ITEM NO. 0666 - SOLID WHITE RE (WORDS), IN ACCORDANCE WITH THE PL COMPLETE IN PLACE</li> </ol>		EA	2	\$400.00	\$800.00	\$200.00	\$400.00	\$375.00	\$750.00	\$182.00	\$364.00
14. INSTALL AND MAINTAIN REINFORCED FII ONLY AT THE WRITTEN DIRECTION OF TH PLACE		LF	1778	\$3.00	\$5,334.00	\$4.00	\$7,112.00	\$2.50	\$4,445.00	\$4.20	\$7,467.60

BID TABULATION FOR:

CONSTRUCTION OF THE PAVING, STRIPING AND APPURTENANCES TO SERVE THE FM 359 IMPROVEMENTS ADJACENT TO DEL WEBB FULSHEAR AND POLO RANCH AND THE TRAFFI SIGNAL INSTALLATION AT FM 359 AND LIFESTYLE BOULEVARD FORT BEND COUNTY MUNICIPAL UTILITY DISTRICT NO. 174

CITY OF FULSHEAR, FORT BEND COUNTY, TEXAS

FEBRUARY 12, 2025 LJA ENGINEERING, INC. A.GUIJOSA FEBRUARY 13, 2025 1680-8014 (9.2)

			1) LARRY Y	OUNG PAVING	2) DURWOOD GREE	NE CONSTRUCTION CO.	3) AAA ASPHALT PAVING, INC.		4) FORDE CONSTRUCTION COMPANY	
NO. ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
15. HYDROMULCH SEEDING, FINE GRADING AND WATERING, (TO BE USED ONLY AT THE WRITTEN DIRECTION OF THE ENGINEER), COMPLETE IN PLACE		0.4	\$1,900.00	\$760.00	\$2,500.00	\$1,000.00	\$3,250.00	\$1,300.00	\$5,800.00	\$2,320.00
16. EXCAVATION FOR TURN LANE SUBGRADE, BASE, AND ASPHALT EXTENSION, TO INCLUDE PLACEMENT AND COMPACTION TO 95% STANDARD PROCTOR DENSITY WITHIN THE FM 359 ROADSIDE DITCH REFORM THE DITCH SIDE SLOPE, ANY EXCESS SPOILS CAN BE PLACED OF SITE ADJACENT TO FM 359 ROW AT THE DIRECTION OF THE ENGINEER COMPLETE IN PLACE	ON	910	\$16.50	\$15,015.00	\$15.00	\$13,650.00	\$19.50	\$17,745.00	\$15.00	\$13,650.00
<ol> <li>TXDOT ITEM NO. 533 - MILLED RUMBLE STRIP, TO BE USED AT THE DIRECTION OF THE ENGINEER, COMPLETE IN PLACE</li> </ol>	LF	909	\$0.60	\$545.40	\$1.50	\$1,363.50	\$1.75	\$1,590.75	\$1.10	\$999.90
18. TXDOT ITEM NO. 506 - ROCK FILTER DAM, TYPE 2, TO BE USED AT THE DIRECTION OF THE ENGINEER, COMPLETE IN PLACE	EA	1	\$2,000.00	\$2,000.00	\$1,800.00	\$1,800.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00
SUBTOTAL POLO RANCH TURN LANE				\$138,123.72		\$141,640.70	_	\$147,382.35		\$174,144.82
BID SUMMARY										
MILL AND OVERLAY AND TWO WAY LEFT TURN LANE ITEMS				\$525,572.41		\$552,239.20		\$522,351.35		\$611,983.92
FULSHEAR INVESTMENTS SOUTHERN TURN LANE				\$421,927.68		\$432,754.90		\$432,440.55		\$554,803.24
FULSHEAR INVESTMENTS NORTHERN TURN LANE AND DRIVEWAY				\$334,843.40		\$338,700.50		\$349,322.25		\$454,231.40
DEL WEBB FULSHEAR TURN LANES				\$190,365.20		\$194,364.50		\$200,407.00		\$242,153.30
TRAFFIC SIGNAL INSTALLATION AT FM 359 AND LIFESTYLE BOULEVARD ITEMS				\$189,611.00	·	\$240,928.75		\$302,368.35		\$238,920.65
ENCLAVE AT FULSHEAR TURN LANE				\$333,118.80		\$340,592.10		\$304,654.05		\$421,486.96
POLO RANCH TURN LANE				\$138,123.72		\$141,640.70		\$147,382.35		\$174,144.82
TOTAL AMOUNT BASE BID				\$2,133,562.21		\$2,241,220.65		\$2,258,925.90		\$2,697,724.29

CONSTRUCTION OF THE PAVING, STRIPING AND APPURTENANCES TO SERVE THE FM 359 IMPROVEMENTS ADJACENT TO DEL WEBB FULSHEAR AND POLO RANCH AND THE TRAFFI SIGNAL INSTALLATION AT FM 359 AND LIFESTYLE BOULEVARE

FORT BEND COUNTY MUNICIPAL UTILITY DISTRICT NO. 245, FORT BEND COUNTY MUNICIPAL UTILITY DISTRICT NO. 174 CITY OF FULSHEAR, FORT BEND COUNTY, TEXAS

FEBRUARY 12, 2025

FEBRUARY 12, 2025 LJA ENGINEERING, INC. A.GUIJOSA

A.GUIJOSA
FEBRUARY 13, 2025
1680-8014 (9.2)

				5) MB WESTER	N CONSTRUCTION
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL
	D OVERLAY AND TWO WAY LEFT TURN LANE ITEMS TXDOT ITEM NO. 0100 - PREPARE RIGHT OF WAY, (STA 25+70), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	2570	\$10.00	\$25,700.00
2.	TXDOT ITEM NO. 0354 - PLANE EXISTING ASPHALT PAVEMENT, 2" DEPTH, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, TO BE USED ONLY AT THE WRITTEN DIRECTION OF THE ENGINEER, COMPLETE IN PLACE	SY	11387	\$3.79	\$43,156.73
3.	TXDOT ITEM NO. 0292- TACK COAT BINDER TO BE INSTALLED IN BETWEEN MILLED ASPHALT AND PROPOSED ASPHALT OVERLAY, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	SY	11387	\$2.06	\$23,457.22
4.	TXDOT ITEM NO. 0341- 2" HOT MIX ASPHALT TYPE D (PG 70-22), SAC-A, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	SY	11387	\$25.00	\$284,675.00
5.	TXDOT ITEM NO. 0678 - PREPARE SURFACE FOR PAVEMENT MARKING (6"), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	5624	\$0.08	\$449.92
6.	TXDOT ITEM NO. 0678 - PREPARE SURFACE FOR PAVEMENT MARKING (DASHED 6"), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	4463	\$0.08	\$357.04
7.	TXDOT ITEM NO. 0666 - 6" SOLID YELLOW REFLECTIVE PAVEMENT MARKINGS, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	4760	\$1,45	\$6,902.00
8.	TXDOT ITEM NO. 0666 - 6" DASHED YELLOW REFLECTIVE PAVEMENT MARKINGS, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	4463	\$1.58	\$7,051.54
9.	STORM WATER POLLUTION PREVENTION PLAN COMPLIANCE, INSPECTION, MAINTENANCE OF FENCE, NOI, NOT, AND ALL OTHER ITEMS NOT SPECIFICALLY LISTED ABOVE, COMPLETE IN PLACE	LS	1	\$5,000.00	\$5,000.00
10.	STABILIZED CONSTRUCTION EXIT, INSTALLATION, MAINTENANCE, AND REMOVAL, TO INCLUDE TEMPORARY CULVERT AS NEEDED FOR CROSSING EXISTING FM 359 ROADSIDE DITCH (TO BE USED ONLY AT THE WRITTEN DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	EA	4	\$1,000.00	\$4,000.00
11.	TEMPORARY TRAFFIC CONTROL FOR MILL AND OVERLAY AND TWO WAY LEFT TURN LANE, INCLUDES INSTALLATION, IMPLEMENTATION AND REMOVAL UPON COMPLETION, FLAGGERS AND TEMPORAR TRAFFIC CONTROL DEVICES, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LS	1	\$3,325.00	\$3,325.00
12.	TEMPORARY TRAFFIC CONTROL PLAN FOR MILL AND OVERLAY AND TWO WAY LEFT TURN LANE TO BE SIGNED AND SEALED BY A PROFESSIONAL ENGINEER AND APPROVED BY THE ENGINEER OF RECORD	LS	1	\$7,500.00	\$7,500.00
13.	TXDOT ITEM NO. 0105 - 2' SAW CUT AND REMOVAL OF EXISTING ASPHALT AND BASE, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	679	\$50.00	\$33,950.00
14.	TXDOT ITEM NO. 0292 - 16" ASPHALT BASE, COMPLETE IN PLACE	SY	428	\$160.00	\$68,480.00
15.	TXDOT ITEM NO. 0341 - 2" HOT MIX ASPHALT TYPE D (PG 70-22), SAC-A, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	SY	360	\$25.00	\$9,000.00

CONSTRUCTION OF THE PAVING, STRIPING AND APPURTENANCES TO SERVE THE FM 359 IMPROVEMENTS ADJACENT TO DEL WEBB FULSHEAR AND POLO RANCH AND THE TRAFFI SIGNAL INSTALLATION AT FM 359 AND LIFESTYLE BOULEVARD

FORT BEND COUNTY MUNICIPAL UTILITY DISTRICT NO. 245, FORT BEND COUNTY MUNICIPAL UTILITY DISTRICT NO. 17

CITY OF FULSHEAR, FORT BEND COUNTY, TEXAS

5) MB WESTERN CONSTRUCTION

FEBRUARY 12, 2025

LJA ENGINEERING, IN
A.GUIJOSA
FEBRUARY 13, 2025
1680-8014 (9.2)

				5) MB WESTERN	CONSTRUCTION
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL
16.	TXDOT ITEM NO. 0666 - 6" SOLID WHITE REFLECTIVE PAVEMENT MARKINGS, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	864	\$1.54	\$1,330.56
17.	TXDOT ITEM NO. 0292 - TACK COAT BINDER FOR ASPHALT EXTENSION, IN ACCORDANCE WITH PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	SY	360	\$2.06	\$741.60
18.	TXDOT ITEM NO. 0512 - INSTALLATION, MAINTENANCE AND REMOVAL OF LOW PROFILE CONCRETE TRAFFIC BARRIERS, TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER, COMPLETE IN PLACE	LF	679	\$125.00	\$84,875.00
19.	DEMOBILIZATION AFTER COMPLETION OF PHASE 1 AND REMOBILIZATION FOR COMPLETION OF PHASE 2, COMPLETE IN PLACE	LS	1	\$20,000.00	\$20,000.00
20.	TXDOT ITEM NO. 503 - SOUTHERN PORTABLE MESSAGE SIGN, TO BE USED AT THE DIRECTION OF THE ENGINEER, COMPLETE IN PLACE	DAY	45	\$100.00	\$4,500.00
21.	TXDOT ITEM NO. 503 - NORTHERN PORTABLE MESSAGE SIGN, TO BE USED AT THE DIRECTION OF THE ENGINEER, COMPLETE IN PLACE	DAY	45	\$100.00	\$4,500.00
22.	TXDOT ITEM NO. 533 - MILLED RUMBLE STRIP, TO BE USED AT THE DIRECTION OF THE ENGINEER, COMPLETE IN PLACE	LF	770	\$2.00	\$1,540.00
SUBTOT	AL MILL AND OVERLAY AND TWO WAY LEFT TURN LANE ITEMS			_	\$640,491.61
	AR INVESTMENTS SOUTHERN TURN LANE TXDOT ITEM NO. 0105 - 2' SAW CUT AND REMOVAL OF EXISTING ASPHALT AND BASE, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	1104	\$50.00	\$55,200.00
2.	TXDOT ITEM NO. 0292 -16" ASPHALT BASE, COMPLETE IN PLACE	SY	2120	\$160.00	\$339,200.00
3.	TXDOT ITEM NO. 0341 - 2" HOT MIX ASPHALT TYPE D (PG 70-22), SAC-A, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	SY	1988	\$25,00	\$49,700.00
4.	TXDOT ITEM NO. 0512 - INSTALLATION, MAINTENCE AND REMOVAL OF LOW PROFILE CONCRETE TRAFFIC BARRIERS, TO BE USED ONLY AT THE WRITTEN DIRECTION OF THE ENGINEER, COMPLETE IN PLACE	LF	1104	\$125.00	\$138,000.00
5.	TXDOT ITEM NO. 0152 - ROADSIDE DITCH REGRADING, CONTRACTOR TO RE-ESTABLISH EXISTING ROADSIDE DITCH TO PRE-PROJECT CONDITIONS AND FLOW DIRECTION, TO INCLUDE DEMUCKING AND FILLING AS NECESSARY, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	883	\$10.00	\$8,830.00
6.	TEMPORARY TRAFFIC CONTROL FOR FULSHEAR INVESTMENTS SOUTHERN TURN LANES, INCLUDES INSTALLATION, IMPLEMENTATION AND REMOVAL UPON COMPLETION, FLAGGERS AND TEMPORARY TRAFFIC CONTROL DEVICES, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LS	1	\$3,325.00	\$3,325.00
7.	TXDOT ITEM NO. 0292 - TACK COAT BINDER FOR TURN LANE, IN ACCORDANCE WITH PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	SY	1988	\$2.06	\$4,095.28
8.	TXDOT ITEM NO. 0678 - PREPARE SURFACE FOR PAVEMENT MARKING (6"), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	1734	\$0.08	\$138.72
9.	TXDOT ITEM NO. 0678 - PREPARE SURFACE FOR PAVEMENT MARKING (ARROW), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	2	\$20.00	\$40.00
10.	TXDOT ITEM NO. 0678 - PREPARE SURFACE FOR PAVEMENT MARKING (WORD), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	2	\$20.00	\$40.00

CONSTRUCTION OF THE PAVING, STRIPING AND APPURTENANCES TO SERVE THE FM 359 IMPROVEMENTS ADJACENT TO DEL WEBB FULSHEAR AND POLO RANCH AND THE TRAFFII SIGNAL INSTALLATION AT FM 359 AND LIFESTYLE BOULEVARE FORT BEND COUNTY MUNICIPAL UTILITY DISTRICT NO. 174 CITY OF FULSHEAR, FORT BEND COUNTY, TEXAS FEBRUARY 12, 2025

FEBRUARY 12, 2025

LJA ENGINEERING, INC. A.GUIJOSA FEBRUARY 13, 2025 1680-8014 (9.2)

				5) MB WESTERN	N CONSTRUCTION
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL
11.	TXDOT ITEM NO. 0666 - 6" SOLID WHITE REFLECTIVE PAVEMENT MARKINGS, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	1734	\$1.60	\$2,774.40
12.	TXDOT ITEM NO. 0666 - SOLID WHITE REFLECTIVE PAVEMENT MARKINGS (ARROW), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	2	\$213.00	\$426.00
13.	TXDOT ITEM NO. 0666 - SOLID WHITE REFLECTIVE PAVEMENT MARKINGS (WORDS), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	2	\$226.10	\$452.20
14.	INSTALL AND MAINTAIN REINFORCED FILTER FABRIC FENCE, (TO BE USED ONLY AT THE WRITTEN DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	LF	1967	\$5.00	\$9,835.00
15.	HYDROMULCH SEEDING, FINE GRADING AND WATERING, (TO BE USED ONLY AT THE WRITTEN DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	AC	0.4	\$5,000.00	\$2,000.00
16.	TXDOT ITEM NO. 0464 - 24" RCP STORM SEWER, ASTM C-76, CLASS III, TO INCLUDE BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	154	\$165.00	\$25,410.00
17.	TXDOT ITEM NO. 0467 - 6:1 SAFETY END TREATMENT FOR 24" RCP PIPE, IN ACCORDANCE WITH PLANS AND SPECIFICATIONS, ALL DEPTHS, COMPLETE IN PLACE	EA	4	\$4,500.00	\$18,000.00
18.	EXCAVATION FOR TURN LANE SUBGRADE, BASE, AND ASPHALT EXTENSION, TO INCLUDE PLACEMENT AND COMPACTION TO 95% STANDARD PROCTOR DENSITY WITHIN THE FM 359 ROADSIDE DITCH TO REFORM THE DITCH SIDE SLOPE, ANY EXCESS SPOILS CAN BE PLACED ON SITE ADJACENT TO FM 359 ROW AT THE DIRECTION OF THE ENGINEER, COMPLETE IN PLACE	LF	982	\$10.00	\$9,820.00
19.	TXDOT ITEM NO. 533 - MILLED RUMBLE STRIP, TO BE USED AT THE DIRECTION OF THE ENGINEER, COMPLETE IN PLACE	LF	1049	\$2.00	\$2,098.00
20.	TXDOT ITEM NO. 506 - ROCK FILTER DAM, TYPE 2, TO BE USED AT THE DIRECTION OF THE ENGINEER, COMPLETE IN PLACE	EA	1	\$3,500.00	\$3,500.00
SUBTOT	AL FULSHEAR INVESTMENTS SOUTHERN TURN LANE			-	\$672,884.60
	AR INVESTMENTS NORTHERN TURN LANE AND DRIVEWAY TXDOT ITEM NO. 0105 - 2' SAW CUT AND REMOVAL OF EXISTING ASPHALT AND BASE, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	985	\$50.00	\$49,250.00
2.	TXDOT ITEM NO. 0292 -16" ASPHALT BASE, COMPLETE IN PLACE	SY	1578	\$160.00	\$252,480.00
3.	TXDOT ITEM NO. TXDOT ITEM 0341 - 2" HOT MIX ASPHALT TYPE D (PG 70-22), SAC-A, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	SY	1456	\$25.00	\$36,400.00
4.	TXDOT ITEM NO. 0512 - INSTALLATION, MAINTENCE AND REMOVAL OF LOW PROFILE CONCRETE TRAFFIC BARRIERS, TO BE USED ONLY AT THE WRITTEN DIRECTION OF THE ENGINEER, COMPLETE IN PLACE	LF	985	\$125.00	\$123,125.00
5.	TXDOT ITEM NO. 0152 - ROADSIDE DITCH REGRADING, CONTRACTOR TO RE-ESTABLISH EXISTING ROADSIDE DITCH TO PRE-PROJECT CONDITIONS AND FLOW DIRECTION, TO INCLUDE DEMUCKING AND FILLING AS NECESSARY, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	470	\$10.00	\$4,700.00

CONSTRUCTION OF THE PAVING, STRIPING AND APPURTENANCES TO SERVE THE FM 359 IMPROVEMENTS ADJACENT TO DEL WEBB FULSHEAR AND POLO RANCH AND THE TRAFFIE SIGNAL INSTALLATION AT FM 359 AND LIFESTYLE BOULEVARD.

FOOT PEND COLINTY MINISTRAL THE VISIT STREET AND 24SE FORT PEND COLINTY MUNICIPAL LITTLE TO STREET AND 174.

FORT BEND COUNTY MUNICIPAL UTILITY DISTRICT NO. 245, FORT BEND COUNTY MUNICIPAL UTILITY DISTRICT NO. 174 CITY OF FULSHEAR, FORT BEND COUNTY, TEXAS

FEBRUARY 12, 2025 LJA ENGINEERING, INC.

A.GUIJOSA FEBRUARY 13, 2025 1680-8014 (9.2)

			Г	5) MB WESTER	N CONSTRUCTION
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL
6.	TEMPORARY TRAFFIC CONTROL FOR FULSHEAR INVESTMENTS NORTHERN TURN LANE AND DRIVEWAY, INCLUDES INSTALLATION, IMPLEMENTATION AND REMOVAL UPON COMPLETION, FLAGGERS AND TEMPORARY TRAFFIC CONTROL DEVICES, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LS	1	\$3,325.00	\$3,325.00
7.	TXDOT ITEM NO. 0292 - TACK COAT BINDER FOR TURN LANE, IN ACCORDANCE WITH PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	SY	1456	\$2.06	\$2,999.36
8.	TXDOT ITEM NO. 0678 - PREPARE SURFACE FOR PAVEMENT MARKING (6"), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	1185	\$0.08	\$94.80
9.	TXDOT ITEM NO. 0678 - PREPARE SURFACE FOR PAVEMENT MARKING (ARROW), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	2	\$20.00	\$40.00
10.	TXDOT ITEM NO. 0678 - PREPARE SURFACE FOR PAVEMENT MARKING (WORD), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	2	\$20.00	\$40.00
11.	TXDOT ITEM NO. 0666 - 6" SOLID WHITE REFLECTIVE PAVEMENT MARKINGS, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	1185	\$1.60	\$1,896.00
12.	TXDOT ITEM NO. 0666 - SOLID WHITE REFLECTIVE PAVEMENT MARKINGS (ARROW), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	2	\$213.00	\$426.00
13.	TXDOT ITEM NO. 0666 - SOLID WHITE REFLECTIVE PAVEMENT MARKINGS (WORDS), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	2	\$226.00	\$452.00
14.	INSTALL AND MAINTAIN REINFORCED FILTER FABRIC FENCE, (TO BE USED ONLY AT THE WRITTEN DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	LF	1625	\$5.00	\$8,125.00
15.	HYDROMULCH SEEDING, FINE GRADING AND WATERING, (TO BE USED ONLY AT THE WRITTEN DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	AC	0.4	\$5,200.00	\$2,080.00
16.	TXDOT ITEM NO. 0464 - 24" RCP STORM SEWER, ASTM C-76, CLASS III, TO INCLUDE BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	171	\$160.00	\$27,360.00
17.	TXDOT ITEM NO. 0467 - 6:1 SAFETY END TREATMENT FOR 24" RCP PIPE, IN ACCORDANCE WITH PLANS AND SPECIFICATIONS, ALL DEPTHS, COMPLETE IN PLACE	EA	4	\$4,500.00	\$18,000.00
18.	EXCAVATION FOR TURN LANE SUBGRADE BASE, AND ASPHALT EXTENSION, TO INCLUDE PLACEMENT AND COMPACTION TO 95% STANDARD PROCTOR DENSITY WITHIN THE FM 359 ROADSIDE DITCH TO REFORM THE DITCH SIDE SLOPE, ANY EXCESS SPOILS CAN BE PLACED ON SITE ADJACENT TO FM 359 ROW AT THE DIRECTION OF THE ENGINEER, COMPLETE IN PLACE	LF	985	\$10.00	\$9,850.00
19.	TXDOT ITEM NO. 533 - MILLED RUMBLE STRIP, TO BE USED AT THE DIRECTION OF THE ENGINEER, COMPLETE IN PLACE	LF	1185	\$2.00	\$2,370.00
20.	TXDOT ITEM NO. 506 - ROCK FILTER DAM, TYPE 2, TO BE USED AT THE DIRECTION OF THE ENGINEER, COMPLETE IN PLACE	EA	1	\$3,500.00	\$3,500.00
SUBTOT	AL FULSHEAR INVESTMENTS NORTHERN TURN LANE AND DRIVEWAY			-	\$546,513.16

CONSTRUCTION OF THE PAVING, STRIPING AND APPURTENANCES TO SERVE THE FM 359 IMPROVEMENTS ADJACENT TO DEL WEBB FULSHEAR AND POLO RANCH AND THE TRAFFII SIGNAL INSTALLATION AT FM 359 AND LIFESTYLE BOULEVARD

FORT BEND COUNTY MUNICIPAL UTILITY DISTRICT NO. 245, FORT BEND COUNTY MUNICIPAL UTILITY DISTRICT NO. 174 CITY OF FULSHEAR, FORT BEND COUNTY, TEXAS

FEBRUARY 12, 2025 LJA ENGINEERING, INC.

A.GUIJOSA FEBRUARY 13, 2025

1680-8014 (9.2)

			г	->	
				5) MB WESTER	N CONSTRUCTION
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL
	BB FULSHEAR TURN LANES TXDOT ITEM NO. 0105 - 2' SAW CUT AND REMOVAL OF EXISTING ASPHALT AND BASE, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	508	\$50.00	\$25,400.00
2.	TXDOT ITEM NO. 0292 -16" ASPHALT BASE, COMPLETE IN PLACE	SY	808	\$160.00	\$129,280.00
3.	TXDOT ITEM NO. 0341 - 2" HOT MIX ASPHALT TYPE D (PG 70-22), SAC-A, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	SY	753	\$25.00	\$18,825.00
4.	TXDOT ITEM NO. 0512 - INSTALLATION, MAINTENCE AND REMOVAL OF LOW PROFILE CONCRETE TRAFFIC BARRIERS, TO BE USED ONLY AT THE WRITTEN DIRECTION OF THE ENGINEER, COMPLETE IN PLACE	LF	508	\$125.00	\$63,500.00
5.	TXDOT ITEM NO. 0152 - ROADSIDE DITCH REGRADING, CONTRACTOR TO RE-ESTABLISH EXISTING ROADSIDE DITCH TO PRE-PROJECT CONDITIONS AND FLOW DIRECTION, TO INCLUDE DEMUCKING AND FILLING AS NECESSARY, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	451	\$10.00	\$4,510.00
6.	TEMPORARY TRAFFIC CONTROL FOR DEL WEBB FULSHEAR TURN LANES, INCLUDES INSTALLATION, IMPLEMENTATION AND REMOVAL UPON COMPLETION, FLAGGERS AND TEMPORARY TRAFFIC CONTROL DEVICES, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LS	1	\$3,325.00	\$3,325.00
7.	TXDOT ITEM NO. 0292 - TACK COAT BINDER FOR TURN LANE, IN ACCORDANCE WITH PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	SY	753	\$2.06	\$1,551.18
8.	TXDOT ITEM NO. 0678 - PREPARE SURFACE FOR PAVEMENT MARKING (6"), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	1025	\$0.08	\$82.00
9.	TXDOT ITEM NO. 0678 - PREPARE SURFACE FOR PAVEMENT MARKING (ARROW), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	2	\$20.00	\$40.00
10	TXDOT ITEM NO. 0678 - PREPARE SURFACE FOR PAVEMENT MARKING (WORD), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	2	\$20.00	\$40.00
11	TXDOT ITEM NO. 0666 - 6" SOLID WHITE REFLECTIVE PAVEMENT MARKINGS, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	1025	\$1.60	\$1,640.00
12	TXDOT ITEM NO. 0666 - SOLID WHITE REFLECTIVE PAVEMENT MARKINGS (ARROW), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	2	\$213.00	\$426.00
13.	TXDOT ITEM NO. 0666 - SOLID WHITE REFLECTIVE PAVEMENT MARKINGS (WORDS), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	2	\$226.00	\$452.00
14.	INSTALL AND MAINTAIN REINFORCED FILTER FABRIC FENCE, (TO BE USED ONLY AT THE WRITTEN DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	LF	997	\$5.00	\$4,985.00
15.	HYDROMULCH SEEDING, FINE GRADING AND WATERING, (TO BE USED ONLY AT THE WRITTEN DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	AC	0.2	\$6,650.00	\$1,330.00

CONSTRUCTION OF THE PAVING, STRIPING AND APPURTENANCES TO SERVE THE FM 359 IMPROVEMENTS ADJACENT TO DEL WEBB FULSHEAR AND POLO RANCH AND THE TRAFFII SIGNAL INSTALLATION AT FM 359 AND LIFESTYLE BOULEVARD FORT BEND COUNTY MUNICIPAL UTILITY DISTRICT NO. 245, FORT BEND COUNTY MUNICIPAL UTILITY DISTRICT NO. 174

CITY OF FULSHEAR, FORT BEND COUNTY, TEXAS
FEBRUARY 12, 2025

FEBRUARY 12, 2025 LJA ENGINEERING, INC. A.GUIJOSA FEBRUARY 13, 2025 1680-8014 (9.2)

5) MB WESTERN CONSTRUCTION

				5) MB WESTERN	CONSTRUCTION
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL
	EXCAVATION FOR TURN LANE SUBGRADE, BASE, AND ASPHALT EXTENSION, TO INCLUDE PLACEMENT AND COMPACTION TO 95% STANDARD PROCTOR DENSITY WITHIN THE FM 359 ROADSIDE DITCH TO REFORM THE DITCH SIDE SLOPE, ANY EXCESS SPOILS CAN BE PLACED ON SITE ADJACENT TO FM 359 ROW AT THE DIRECTION OF THE ENGINEER, COMPLETE IN PLACE	LF	507	\$10.00	\$5,070.00
17.	REMOVAL AND DISPOSAL OF EXISTING TYPE 7 RAMP ALONG LIFESTYLE BOULEVARD, TO INCLUDE 6" CURB INSTALLATION WHERE EXISTING RAMPS WERE PREVIOUSLY LOCATED, COMPLETE IN PLACE	EA	2	\$1,500.00	\$3,000.00
18.	TYPE 7 RAMP, TO INCLUDE CONNECTION OF PROPOSED RAMP TO PROPOSED ASPHALT PAVEMENT AND OVERLAY, COMPLETE IN PLACE	EA	2	\$5,500.00	\$11,000.00
19.	5' REINFORCED CONCRETE SIDEWALK, TO INCLUDE LEVELING SAND, SUBGRADE, AND CONNECTION OF PROPOSED SIDEWALK TO PROPOSED RAMPS AND	LF	30	\$100.00	\$3,000.00
20.	ECONOMIC INCENTIVE FOR FINAL COMPLETION OF THE DEL WEBB FULSHEAR TURN LANES PRIOR TO 45 CALENDAR DAYS FROM THE DATE OF THE NOTICE TO PROCEED, TOTAL MAXIMUM PAYMENT OF \$100,000 (20 DAYS)	DAY	0	\$5,000.00	\$0.00
21.	TXDOT ITEM NO. 0677 AND 0672 - INSTALLATION AND REMOVAL OF RAISED PAVEMENT MARKERS TO MARK EDGE OF TRAVEL LANE, TO INCLUDE TYPE I-C AND TYPE W BUTTONS AS SHOWN IN DETAILS AND SPECIFICATIONS, TO BE USED AT THE DIRECTION OF THE ENGINEER, COMPLETE IN PLACE	LF	4590	\$1.30	\$5,967.00
22.	TXDOT ITEM NO. 533 - MILLED RUMBLE STRIP, TO BE USED AT THE DIRECTION OF THE ENGINEER, COMPLETE IN PLACE	LF	497	\$2.00	\$994.00
23.	TXDOT ITEM NO. $506$ - ROCK FILTER DAM, TYPE 2, TO BE USED AT THE DIRECTION OF THE ENGINEER, COMPLETE IN PLACE	EA	1	\$55.00	\$55.00
24.	TXDOT ITEM NO. 0666 - 6" SOLID WHITE REFLECTIVE PAVEMENT MARKINGS FOR REMAINDER OF PHASE 1 EXTERIOR WHITE LANE STRIPE, TO BE USED AT THE DIRECTION OF THE ENGINEER, COMPLETE IN PLACE	LF	4255	\$1.65	\$7,020.75
25.	TXDOT ITEM NO. 0678 - PREPARE SURFACE FOR PAVEMENT MARKINGS (6") FOR REMAINDER OF PHAE 1 EXTERIOR WHITE LANE STRIPE, TO BE USED AT THE DIRECTION OF THE ENGINEER, COMPLETE IN PLACE	LF	4255	\$0.08	\$340.40
SUBTOT	AL DEL WEBB FULSHEAR TURN LANES			=	\$291,833.33
	SIGNAL INSTALLATION AT FM 359 AND LIFESTYLE BOULEVARD ITEM! TXDOT ITEM NO. 416 - DRILL SHAFT (TRF SIG POLE) (36 IN), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	44	\$340.00	\$14,960.00
2.	TXDOT ITEM NO. 618 - CONDT PVC (SCHD 80) (2"), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	45	\$31.00	\$1,395.00
3.	TXDOT ITEM NO. 618 - CONDT PVC (SCHD 80) (3"), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	80	\$30.00	\$2,400.00
4.	TXDOT ITEM NO. 618 - CONDT PVC (SCHD 80) (3")(BORE), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	185	\$35.30	\$6,530.50
5.	TXDOT ITEM NO. 618 - CONDT PVC (SCHD 80) (4"), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	35	\$44.00	\$1,540.00
6.	TXDOT ITEM NO. 620 - ELEC CONDR (NO. 8) BARE, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	370	\$1.50	\$555.00

CONSTRUCTION OF THE PAVING, STRIPING AND APPURTENANCES TO SERVE THE FM 359 IMPROVEMENTS ADJACENT TO DEL WEBB FULSHEAR AND POLO RANCH AND THE TRAFFIF
SIGNAL INSTALLATION AT FM 359 AND LIFESTYLE BOULEVARC

FORT BEND COUNTY MUNICIPAL UTILITY DISTRICT NO. 245, FORT BEND COUNTY MUNICIPAL UTILITY DISTRICT NO. 174

CITY OF FULSHEAR, FORT BEND COUNTY, TEXAS

FEBRUARY 12, 2025 LJA ENGINEERING, INC. A.GULIOSA

LIA ENGINEE	KING, II
A.GUIJOSA	
FEBRUARY 13	3, 2025
1680-8014 (9	.2)

				E) MR WESTER	N CONSTRUCTION
				3) IVID WESTER	N CONSTRUCTION
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL
7.	TXDOT ITEM NO. 620 - ELEC CONDR (NO. 4) INSULATED, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	35	\$5.12	\$179.20
8.	TXDOT ITEM NO. 621 - TRAY CABLE (4 CONDR) (12 AWG), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	365	\$3.09	\$1,127.85
9.	TXDOT ITEM NO. 624 - GROUND BOX TY D (162922) W/APRON, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	3	\$1,900.00	\$5,700.00
10.	TXDOT ITEM NO. 624 - GROUND BOX TY 2 (243636) W/APRON (POLYMER), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	1	\$5,800.00	\$5,800.00
11.	TXDOT ITEM NO. 628 - ELC SRV TY D 120/240 060(NS)SS(E)SP(O), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	1	\$10,260.00	\$10,260.00
12.	TXDOT ITEM NO. 666 - RETROREFLECTORIZED PAV MRK (24")(SLD), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	100	\$20.00	\$2,000.00
13.	TXDOT ITEM NO. 666 - PAVEMENT SEALER 24", IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	100	\$13.50	\$1,350.00
14.	TXDOT ITEM NO. 677 - ELIM EXT PM & MRKS (24"), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	24	\$13.50	\$324.00
15.	TXDOT ITEM NO. 678 - PAV SURF PREP FOR MRK (24"), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	100	\$10.00	\$1,000.00
16.	TXDOT ITEM NO. 680 - INSTALL HWY TRF SIG (SYSTEM), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	1	\$58,000.00	\$58,000.00
17.	SUB-ITEM NO. 16. THIS ITEM IS SUBSIDIARY TO BASE BID ITEM NO. 16. ALL COSTS ASSOCIATED WITH THIS WORK SHALL BE INCLUDED IN THE BID FOR ITEM NO. 16. TXDOT ITEM NO. 680 - CNT FULL ACTUATED SOLID STATE W/ NEMA CAB, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	1	\$0.00	\$0.00
18.	SUB-ITEM NO. 16. THIS ITEM IS SUBSIDIARY TO BASE BID ITEM NO. 16. ALL COSTS ASSOCIATED WITH THIS WORK SHALL BE INCLUDED IN THE BID FOR ITEM NO. 16. TXDOT ITEM NO. 680 - CNT CAB FOUNDATION, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	1	\$0.00	\$0.00
19.	SUB-ITEM NO. 16. THIS ITEM IS SUBSIDIARY TO BASE BID ITEM NO. 16. ALL COSTS ASSOCIATED WITH THIS WORK SHALL BE INCLUDED IN THE BID FOR ITEM NO. 16. TXDOT ITEM NO. 680 - ROD 5/8"X10' COPPER-CLAD GROUND (CNT ONLY), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLAC	EA	1	\$0.00	\$0.00
20.	SUB-ITEM NO. 16. THIS ITEM IS SUBSIDIARY TO BASE BID ITEM NO. 16. ALL COSTS ASSOCIATED WITH THIS WORK SHALL BE INCLUDED IN THE BID FOR ITEM NO. 16. TXDOT ITEM NO. 680 - 18-INCH CABINET BASE EXTENSION, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	1	\$0.00	\$0.00
21.	SUB-TEM NO. 16. THIS ITEM IS SUBSIDIARY TO BASE BID ITEM NO. 16. ALL COSTS ASSOCIATED WITH THIS WORK SHALL BE INCLUDED IN THE BID FOR ITEM, NO. 16. TXDOT ITEM NO. 680 - OVERHEAD SIGN, FM 359 (48"X18") 6 SF, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	1	\$0.00	\$0.00



CONSTRUCTION OF THE PAVING, STRIPING AND APPURTENANCES TO SERVE THE FM 359 IMPROVEMENTS ADJACENT TO DEL WEBB FULSHEAR AND POLO RANCH AND THE TRAFFII SIGNAL INSTALLATION AT FM 359 AND LIFESTYLE BOULEVARE

FORT BEND COUNTY MUNICIPAL UTILITY DISTRICT NO. 245, FORT BEND COUNTY MUNICIPAL UTILITY DISTRICT NO. 174 CITY OF FULSHEAR, FORT BEND COUNTY, TEXAS

FEBRUARY 12, 2025

LJA ENGINEERING, INC. A.GUIJOSA FEBRUARY 13, 2025 1680-8014 (9.2)

				5) MB WESTERN CONSTRUCTION	
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL
	SUB-ITEM NO. 16. THIS ITEM IS SUBSIDIARY TO BASE BID ITEM NO. 16. ALL COSTS ASSOCIATED WITH THIS WORK SHALL BE INCLUDED IN THE BID FOR ITEM NO. 16. TXDOT ITEM NO. 680 - OVERHEAD SIGN, LIFESTYLE BLVD (78"X18") 9.8 SF, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	2	\$0.00	\$0.00
23.	SUB-ITEM NO. 16. THIS ITEM IS SUBSIDIARY TO BASE BID ITEM NO. 16. ALL COSTS ASSOCIATED WITH THIS WORK SHALL BE INCLUDED IN THE BID FOR ITEM NO. 16. TXDOT ITEM NO. 680 - MAST ARM DAMPENER, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	3	\$0.00	\$0.00
24.	SUB-ITEM NO. 16. THIS ITEM IS SUBSIDIARY TO BASE BID ITEM NO. 16. ALL COSTS ASSOCIATED WITH THIS WORK SHALL BE INCLUDED IN THE BID FOR ITEM NO. 16. TXDOT ITEM NO. 680 - CELLULAR MODEM, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	1	\$0.00	\$0.00
25.	SUB-ITEM NO. 16. THIS ITEM IS SUBSIDIARY TO BASE BID ITEM NO. 16. ALL COSTS ASSOCIATED WITH THIS WORK SHALL BE INCLUDED IN THE BID FOR ITEM NO. 16. TXDOT ITEM NO. 680 - LED RDWY LUMINAIRE (.25 KW EQ), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	2	\$0.00	\$0.00
26.	TXDOT ITEM NO. 682 - VEH SIG SEC (12 IN) LED (GRN), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	6	\$385.00	\$2,310.00
27.	TXDOT ITEM NO. 682 - VEH SIG SEC (12 IN) LED (GRN ARW), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	1	\$385.00	\$385.00
28.	TXDOT ITEM NO. 682 - VEH SIG SEC (12 IN) LED (YEL), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	6	\$385.00	\$2,310.00
29	TXDOT ITEM NO. 682 - VEH SIG SEC (12 IN) LED (YEL ARW), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	1	\$385.00	\$385.00
30.	TXDOT ITEM NO. 682 - VEH SIG SEC (12 IN) LED (RED), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	6	\$385.00	\$2,310.00
31.	TXDOT ITEM NO. 682 - VEH SIG SEC (12 IN) LED (RED ARW), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	2	\$385.00	\$770.00
32.	TXDOT ITEM NO. 682 - PED SIG SEC (LED) (COUNTDOWN), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	6	\$1,150.00	\$6,900.00
33.	TXDOT ITEM NO. 682 - BACK PLATE W/REF BRDR (4 SEC), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	1	\$315.00	\$315.00
34.	TXDOT ITEM NO. 682 - BACK PLATE W/REF BRDR (3 SEC), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	6	\$255.00	\$1,530.00
35.	TXDOT ITEM NO. 684 - TRF SIG CBL (TY A) (12 AWG) (2 CONDR), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	250	\$2.00	\$500.00
36	TXDOT ITEM NO. 684 - TRF SIG CBL (TY A) (12 AWG) (4 CONDR), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	265	\$2.90	\$768.50
37.	TXDOT ITEM NO. 684 - TRF SIG CBL (TY A) (12 AWG) (7 CONDR), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	635	\$5.45	\$3,460.75

CONSTRUCTION OF THE PAVING, STRIPING AND APPURTENANCES TO SERVE THE FM 359 IMPROVEMENTS ADJACENT TO DEL WEBB FULSHEAR AND POLO RANCH AND THE TRAFFI

SIGNAL INSTALLATION AT FM 359 AND LIFESTYLE BOULEVARD

FORT BEND COUNTY MUNICIPAL UTILITY DISTRICT NO. 245, FORT BEND COUNTY MUNICIPAL UTILITY DISTRICT NO. 17

CITY OF FULSHEAR, FORT BEND COUNTY, TEXAS FEBRUARY 12, 2025

5) MB WESTERN CONSTRUCTION

LJA ENGINEERING, INC. A.GUIJOSA

FEBRUARY 13, 2025 1680-8014 (9.2)

				S, IND WESTERN CONSTRUCTION	
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL
	TXDOT ITEM NO. 686 - INS TRF SIG PL AM(S)1 ARM (32'), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	1	\$21,000.00	\$21,000.00
39.	TXDOT ITEM NO. 686 - INS TRF SIG PL AM(S)1 ARM (36') LUM, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	1	\$22,000.00	\$22,000.00
40.	TXDOT ITEM NO. 686 - INS TRF SIG PL AM(S)1 ARM (40') LUM, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	1	\$25,000.00	\$25,000.00
41.	TXDOT ITEM NO. 687 - PED POLE ASSEMBLY, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	2	\$1,554.00	\$3,108.00
42.	TXDOT ITEM NO. 687 - SCREW-IN ANCHOR FOUNDATION, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	2	\$1,750.00	\$3,500.00
43.	TXDOT ITEM NO. 688 - PED DETECT PUSH BUTTON (APS), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	2	\$1,700.00	\$3,400.00
44.	TXDOT ITEM NO. 688 - PED DETECTOR CONTROLLER UNIT, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	1	\$3,400.00	\$3,400.00
45.	TXDOT ITEM NO. 6007 - BBU SYSTEM (EXTERNAL BATT CABINET), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	1	\$12,255.00	\$12,255.00
46.	TXDOT ITEM NO. 6008 - RVDS (PRESENCE DETECTION ONLY), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	3	\$25,000.00	\$75,000.00
47.	SUB-ITEM NO. 46. THIS ITEM IS SUBSIDIARY TO BASE BID ITEM NO. 46. ALL COSTS ASSOCIATED WITH THIS WORK SHALL BE INCLUDED IN THE BID FOR ITEM NO. 46. TXDOT ITEM NO. 6008 - RVDS PRESENCE CABLE, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	440	\$0.00	\$0.00
48.	SUB-ITEM NO. 46. THIS ITEM IS SUBSIDIARY TO BASE BID ITEM NO. 46. ALL COSTS ASSOCIATED WITH THIS WORK SHALL BE INCLUDED IN THE BID FOR ITEM NO. 46. TXDOT ITEM NO. 6008 - RVDS (ADVANCE DETECTION ONLY), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	2	\$0.00	\$0.00
49.	SUB-ITEM NO. 46. THIS ITEM IS SUBSIDIARY TO BASE BID ITEM NO. 46. ALL COSTS ASSOCIATED WITH THIS WORK SHALL BE INCLUDED IN THE BID FOR ITEM NO. 46. TXDOT ITEM NO. 6008 - RVDS ADVANCE CABLE, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	350	\$0.00	\$0.00
SUBTOTAL TRAFFIC SIGNAL INSTALLATION AT FM 359 AND LIFESTYLE BOULEVARD ITEM! \$303,728.80					\$303,728.80
	E AT FULSHEAR TURN LANE TXDOT ITEM NO. 0105 - 2° SAW CUT AND REMOVAL OF EXISTING ASPHALT AND BASE, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	860	\$50.00	\$43,000.00
2.	TXDOT ITEM NO. 0292 -16" ASPHALT BASE, COMPLETE IN PLACE	SY	1752	\$160.00	\$280,320.00

CONSTRUCTION OF THE PAVING, STRIPING AND APPURTENANCES TO SERVE THE FM 359 IMPROVEMENTS ADJACENT TO DEL WEBB FULSHEAR AND POLO RANCH AND THE TRAFFIF
SIGNAL INSTALLATION AT FM 359 AND LIFESTYLE BOULEVARC

FORT BEND COUNTY MUNICIPAL UTILITY DISTRICT NO. 245, FORT BEND COUNTY MUNICIPAL UTILITY DISTRICT NO. 17

CITY OF FULSHEAR, FORT BEND COUNTY, TEXAS

FEBRUARY 12, 2025 LJA ENGINEERING, INC. A.GUIJOSA

A.GUIJOSA FEBRUARY 13, 2025 1680-8014 (9.2)

				5) MB WESTERI	N CONSTRUCTION
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL
	TXDOT ITEM NO. 0341 - 2" HOT MIX ASPHALT TYPE D (PG 70-22), SAC-A, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	SY	1640	\$25.00	\$41,000.00
4.	TXDOT ITEM NO. 0512 - INSTALLATION, MAINTENCE AND REMOVAL OF LOW PROFILE CONCRETE TRAFFIC BARRIERS, TO BE USED ONLY AT THE WRITTEN DIRECTION OF THE ENGINEER, COMPLETE IN PLACE	LF	860	\$125.00	\$107,500.00
5.	TXDOT ITEM NO. 0152 - ROADSIDE DITCH REGRADING, CONTRACTOR TO RE-ESTABLISH EXISTING ROADSIDE DITCH TO PRE-PROJECT CONDITIONS AND FLOW DIRECTION, TO INCLUDE DEMUCKING AND FILLING AS NECESSARY, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	780	\$10.00	\$7,800.00
6.	TEMPORARY TRAFFIC CONTROL FOR ENCLAVE AT FULSHEAR TURN LANE, INCLUDES INSTALLATION, IMPLEMENTATION AND REMOVAL UPON COMPLETION, FLAGGERS AND TEMPORARY TRAFFIC CONTROL DEVICES, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LS	1	\$3,325.00	\$3,325.00
7.	TXDOT ITEM NO. 0292 - TACK COAT BINDER FOR TURN LANE, IN ACCORDANCE WITH PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	SY	1640	\$2.06	\$3,378.40
8.	TXDOT ITEM NO. 0678 - PREPARE SURFACE FOR PAVEMENT MARKING (6"), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	1406	\$0.08	\$112.48
9.	TXDOT ITEM NO. 0678 - PREPARE SURFACE FOR PAVEMENT MARKING (ARROW), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	2	\$20.00	\$40.00
10.	TXDOT ITEM NO. 0678 - PREPARE SURFACE FOR PAVEMENT MARKING (WORD), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	2	\$20.00	\$40.00
11.	TXDOT ITEM NO. 0666 - 6" SOLID WHITE REFLECTIVE PAVEMENT MARKINGS, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	1406	\$2.00	\$2,812.00
12.	TXDOT ITEM NO. 0666 - SOLID WHITE REFLECTIVE PAVEMENT MARKINGS (ARROW), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	2	\$213.00	\$426.00
13.	TXDOT ITEM NO. 0666 - SOLID WHITE REFLECTIVE PAVEMENT MARKINGS (WORDS), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	2	\$226.00	\$452.00
14.	INSTALL AND MAINTAIN REINFORCED FILTER FABRIC FENCE, (TO BE USED ONLY AT THE WRITTEN DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	LF	3104	\$5.00	\$15,520.00
15.	HYDROMULCH SEEDING, FINE GRADING AND WATERING, (TO BE USED ONLY AT THE WRITTEN DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	AC	0.7	\$5,200.00	\$3,640.00
16.	TXDOT ITEM NO. 0464 - 24" RCP STORM SEWER, ASTM C-76, CLASS III, TO INCLUDE BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	98	\$161.00	\$15,778.00
17.	TXDOT ITEM NO. 0467 - 6:1 SAFETY END TREATMENT FOR 24" RCP PIPE, IN ACCORDANCE WITH PLANS AND SPECIFICATIONS, ALL DEPTHS, COMPLETE IN PLACE	EA	2	\$4,522.00	\$9,044.00
18.	TXDOT ITEM NO. 533 - MILLED RUMBLE STRIP, TO BE USED AT THE DIRECTION OF THE ENGINEER, COMPLETE IN PLACE	LF	787	\$2.00	\$1,574.00

CONSTRUCTION OF THE PAVING, STRIPING AND APPURTENANCES TO SERVE THE FM 359 IMPROVEMENTS ADJACENT TO DEL WEBB FULSHEAR AND POLO RANCH AND THE TRAFFI SIGNAL INSTALLATION AT FM 359 AND LIFESTYLE BOULEVARD

FORT BEND COUNTY MUNICIPAL UTILITY DISTRICT NO. 245, FORT BEND COUNTY MUNICIPAL UTILITY DISTRICT NO. 17

CITY OF FULSHEAR, FORT BEND COUNTY, TEXAS

5) MB WESTERN CONSTRUCTION

FEBRUARY 12, 2025

LJA ENGINEERING, II
A.GUIJOSA
FEBRUARY 13, 2025
1680-8014 (9.2)

				5) MB WESTERN CONSTRUCTION	
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL
19.	TXDOT ITEM NO. 506 - ROCK FILTER DAM, TYPE 2, TO BE USED AT THE DIRECTION OF THE ENGINEER, COMPLETE IN PLACE	EA	1	\$3,500.00	\$3,500.00
SUBTOT	AL ENCLAVE AT FULSHEAR TURN LANE			_	\$539,261.88
	ANCH TURN LANE TXDOT ITEM NO. 0105 - 2' SAW CUT AND REMOVAL OF EXISTING ASPHALT AND BASE, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	418	\$50.00	\$20,900.00
2.	TXDOT ITEM NO. 0292 - 16" ASPHALT BASE, COMPLETE IN PLACE	SY	607	\$160.00	\$97,120.00
3.	TXDOT ITEM NO. 0341 - 2" HOT MIX ASPHALT TYPE D (PG 70-22), SAC-A, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	SY	562	\$25.00	\$14,050.00
4.	TXDOT ITEM NO. 0512 - INSTALLATION, MAINTENCE AND REMOVAL OF LOW PROFILE CONCRETE TRAFFIC BARRIERS, TO BE USED ONLY AT THE WRITTEN DIRECTION OF THE ENGINEER, COMPLETE IN PLACE	LF	418	\$125.00	\$52,250.00
5.	TXDOT ITEM NO. 0152 - ROADSIDE DITCH REGRADING, CONTRACTOR TO RE-ESTABLISH EXISTING ROADSIDE DITCH TO PRE-PROJECT CONDITIONS AND FLOW DIRECTION, TO INCLUDE DEMUCKING AND FILLING AS NECESSARY, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	365	\$10.00	\$3,650.00
6.	TEMPORARY TRAFFIC CONTROL FOR FULSHEAR INVESTMENTS SOUTHERN TURN LANES, INCLUDES INSTALLATION, IMPLEMENTATION AND REMOVAL UPON COMPLETION, FLAGGERS AND TEMPORARY TRAFFIC CONTROL DEVICES, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LS	1	\$3,325,00	\$3,325.00
7.	TXDOT ITEM NO. 0292 - TACK COAT BINDER FOR TURN LANE, IN ACCORDANCE WITH PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	SY	562	\$2.06	\$1,157.72
8.	TXDOT ITEM NO. 0678 - PREPARE SURFACE FOR PAVEMENT MARKING (6"), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	1152	\$0.08	\$92.16
9.	TXDOT ITEM NO. 0678 - PREPARE SURFACE FOR PAVEMENT MARKING (ARROW), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	2	\$20.00	\$40.00
10.	TXDOT ITEM NO. 0678 - PREPARE SURFACE FOR PAVEMENT MARKING (WORD), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	2	\$20.00	\$40.00
11.	TXDOT ITEM NO. 0666 - 6" SOLID WHITE REFLECTIVE PAVEMENT MARKINGS, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	1152	\$1.60	\$1,843.20
12.	TXDOT ITEM NO. 0666 - SOLID WHITE REFLECTIVE PAVEMENT MARKINGS (ARROW), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	2	\$213.00	\$426.00
13.	TXDOT ITEM NO. 0666 - SOLID WHITE REFLECTIVE PAVEMENT MARKINGS (WORDS), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	2	\$226.00	\$452.00
14.	INSTALL AND MAINTAIN REINFORCED FILTER FABRIC FENCE, (TO BE USED ONLY AT THE WRITTEN DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	LF	1778	\$5.00	\$8,890.00

BID TABULATION FOR:

CONSTRUCTION OF THE PAVING, STRIPING AND APPURTENANCES TO SERVE THE FM 359 IMPROVEMENTS ADJACENT TO DEL WEBB FULSHEAR AND POLO RANCH AND THE TRAFFI SIGNAL INSTALLATION AT FM 359 AND LIFESTYLE BOULEVARD FORT BEND COUNTY MUNICIPAL UTILITY DISTRICT NO. 174

CITY OF FULSHEAR, FORT BEND COUNTY, TEXAS

FEBRUARY 12, 2025 LJA ENGINEERING, INC. A.GUIJOSA

FEBRUARY 13, 2025 1680-8014 (9.2)

BID OPENING DATE:	F
BID OPENING LOCATION:	L
TABULATION BY:	A
TABULATION DATE:	F
LJA JOB NO.	1

			ĺ	5) MB WESTER	N CONSTRUCTION
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL
15.	HYDROMULCH SEEDING, FINE GRADING AND WATERING, (TO BE USED ONLY AT THE WRITTEN DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	AC	0.4	\$5,200.00	\$2,080.00
16.	EXCAVATION FOR TURN LANE SUBGRADE, BASE, AND ASPHALT EXTENSION, TO INCLUDE PLACEMENT AND COMPACTION TO 95% STANDARD PROCTOR DENSITY WITHIN THE FM 359 ROADSIDE DITCH TO REFORM THE DITCH SIDE SLOPE, ANY EXCESS SPOILS CAN BE PLACED ON SITE ADJACENT TO FM 359 ROW AT THE DIRECTION OF THE ENGINEER, COMPLETE IN PLACE	LF	910	\$10.00	\$9,100.00
17.	TXDOT ITEM NO. 533 - MILLED RUMBLE STRIP, TO BE USED AT THE DIRECTION OF THE ENGINEER, COMPLETE IN PLACE	LF	909	\$2.00	\$1,818.00
18.	TXDOT ITEM NO. 506 - ROCK FILTER DAM, TYPE 2, TO BE USED AT THE DIRECTION OF THE ENGINEER, COMPLETE IN PLACE	EA	1	\$55.00	\$55.00
SUBTOTAL POLO RANCH TURN LANE					\$217,289.08
BID SUMMARY					
MILL AN	D OVERLAY AND TWO WAY LEFT TURN LANE ITEMS				\$640,491.61
FULSHEAR INVESTMENTS SOUTHERN TURN LANE					\$672,884.60
FULSHEAR INVESTMENTS NORTHERN TURN LANE AND DRIVEWAY					\$546,513.16
DEL WEBB FULSHEAR TURN LANES				\$291,833.33	
TRAFFIC	SIGNAL INSTALLATION AT FM 359 AND LIFESTYLE BOULEVARD ITEMS				\$303,728.80
ENCLAV	E AT FULSHEAR TURN LANE				\$539,261.88
POLO RA	ANCH TURN LANE				\$217,289.08
TOTAL A	AMOUNT BASE BID				\$3,212,002.46